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M,0,. The metal would belong to which
group of the modern periodic table ?

(A) TA
(B) TIA
(©) MA
(D) IVA

DET/CHEM (3)

PART-T
(CHEMISTRY) |
1. (a) Carbonates of Ca and Mg cause L (a) QIRdan 8 Aisgleds RI6SI66G!
~ hardness of water. 6glg 8F o 62IR2N
(b) Lime removes only temporary (b) 97 699 2QIM SOG 98 6Q |
hardness
. (c) REIYLICAIP 6QIR glm %1@@
(c) Washing soda removes only 9@ @64
permanent hardness. ,
(AY (a)is comrectand (b) and (c) are (A) (@) BR9S° (B) 6 (c) QR
wrong | : | T e
~ (B).(b)is correct and (c) and (a) are (B). (b) OR 9&° (c) 8 (a) QA
wrong ' : - : _ . |
(C), (¢) is correct and. (a) and (b) are - (C) (©) 0] 9° (@) B (b) QR
wrang - S -
(D) (@), (b)and (c) are wrong (D)(@), () B (¢) W
2. The formula of a metallic oxide is 2 QQ UGS URAINRR qé'gg';@. M,0,

269 | 2ARIAR YIS AQE168 Ag

Q0 609 gOQ 621Rae ?
(A) 1A
(B) IA

(C) A

DIVA

(-Space For Rough Work )

{ Turn Over)



3.

. (B)(pyand (c) a;e correctand (@) is

6.

' DET/CHEM (3)

(a) Air pollution causes acid rain. 5. (a) QI_QQQ@_& saug acQdl 94 |

(b) Acid rain causes water’pOHution. o (b) El?lQ@l Saltf aa gqgew a9 |

(¢) Water pollution causes soil pollution. () a@gc@a G&Jlﬁl Q@QI gq@a gﬂ |
(A) (@) and (b) are correct and (c) is (®) (@) 8 (b) oet qQ° (c) W

wrong

B ®6 @R @ 99

wrong

(C)(c) and (a) are correct and (b) is
- wrong- SR :

O ©6 @R G 9

(DY@, (b) and (¢) are correct D)@, ®)6 © OR

The ore of which metal i is ot Su1tab1e “ 6. GG?@ (\_“.;&\.Q 89, G@@ﬂ@@ Qgﬁ@@ gm

for electrolytic reductlon ? _ _ 31%9951@ 9 -
(A) Mg | f | L (A Mg
(B) Zn o @)z
©oa oA
MyLi | - | (D) Li.

. (3)_ - - { Twrn Qver)



DET/CHEM (3)

8. How many electrons take part in the S.QIéQ@I@E‘JQQI@Q 24 FORER 6R68IE

formation of a carbondioxide molecule ? . QEMAER QIS 6eRaANG 2
@2 o (A) 2
" (B) 4 - | (B4
@ ©5
D)8 | - D8

9. The mass of 1-12 litres of carbon- 9. AIG® Q19 8 QIAAIGIER 1-12 RS

~ dioxide at NTP would be o ~ méQ@mamia@@ Qgq 699
(A).2-'O‘_5g R | RN 2.05 gl. | |
(B)210g . ®210g.

(© 2158 e C©2159.

@228 . o209

—( Space For Rough Work )~

(5) ' ) ) ( Turn Over )



12. (a) Electrovalent bonds are generally

. formed between the elements at the

. two ends of the modern pcrlodlc _

table.

(by Covalent bonds :are  generally
formed betwccn the non- metals

(c) Electrovalent compounds have

low melting points and covalent .
compounds have high melting

points.

(A) (a) and () are correct and (c) is
‘wrong e

(B) (b and (c) are correct"ond‘ (a) is

wiong .

(C) {¢) and (a) are correct egnd (b) 1s
wrong ' :

)(D) (@), (b) and (c) are con"oct _

DET/CHEM (3)

12, (@) QRUGESE AR OIS QB9

QR giIgen 8l 6rRegee-
Aueq QIR @ eAIR 9 90¢
CRIRAIN |

(b) QRIBEEs  SRIQEES IR
. JRAEAIRY 99 G0V CRAGEIN |

(c) Gguaerealst 6ltRgRes cRale
@F] 2N e AR 6LIRT 6TI0R—
JEaR JRRIT 2R & |

W) @EBRY () g
(B) (6) 6 () OR <&" (a) A
(©) (0) 8 (@) OR 9" (b) QR

(D) (@), (6) €. {c) o]

— Gt For Forer o —

(79
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DET/CHEM (3)

14_._-W;hi_ch one belongs to anotherclass ? - 14. 602G 2 656199 .'?_

(A) 'Biturﬁéh/Asﬁhalt ER ) .f_ (A)'k@géﬂq.}/aiqqlﬁé:
| 'H(B) Pitch/Coa.llt‘ar | (B) @@/wgﬁg{@[@] o
(C) Coal (©) caral

15.° Which one-is different f;or‘n' the - 15, GQ%‘T@ UGN GERIT OiQ'@Q ?
"~ other three ?.. . - . o :

WLme Cwe
! '._ -(B) Lime stqne- | | L = (B) Qpad.
(© Quicklime L © Qﬁ%\‘“

(D) Slaked lime ~~ (Dysfiegs

" (Space For Rough Work)

(9) : : ("Tumlf)ver)_



 18. The symbol of which one is different

19.

from that of the other three according
16 a certain principle ?

(A) Chiorine

(B) Cadmium
(C) Caesium

' (D;) Chromium

One milligram of hydrogen will contam
how many atoms 7"

(A) 6023 x 1020

B) 6023 x 10°

(C) 6:023% 107"

(D) 6-023:x 10

A'1.9_.

DET/CHEM (3)

1

18, Q@ Qhq Bog agRIL! 6060 9OIR

ARy 61T geIRoig @n ?

A) 6q88

(B) @iafian

(O GRee -

(D) sqifign

N ﬂﬁﬂ@]lﬂ QIGIG@IGG?QGQ SG?GG‘IG‘

aqelg ae 7

(A) 6:023 x 107

(B) 6:023 x 10"

(C) 6023107

(D) 6:023.x 107

( Space For Rough Work) - -

( Turn Over)



DET/CHEM (3)

22. Which one of the following is a  22. G6qIg AQ 6945 GEFR QIAIES

neutralisation chemical reaction ?.

* (A) NaOH + HCl = NaCl + H,0

(B) NaCl+AgNO,=AgCl + NaNO,

(C) Zn+H,80,= ZnSO, +H,

(D) Fe'+ CuSO, = FeSO, + Cu_

23

. Outof the foilowing in which case -

chemical change doesn’t occur ?
(A) Fire'WOdd:chnris'g-'IQWing’ '
(B) Kerosene stove is glowing’

(©) Electric ch).ven {s glowing -

(D) Gobargas oven is glowing

QoG a6s ? -

' (A)NaOH +HCl = NaCl+H,0
(B)NaCl+AgNO, = AgC1-+NaNO,
(©)Zn+ H,50,= ZnSO, + H,

(D)Fe + CuSO, = FeSO, + Cu

23. F6qIQ FIQ 604 69GER QIdIBRR

gedle I°aFe 91 @F 7.

(A) @10 §R aﬁejfé‘ S

" (B) Gealde 6]I6 @28 |
©(€) 96RER 9A 9928

(D) 66lIQaeMIq R, SG2E

(_' Space For Rough Work) -

{ Turn Over )



26.

' DET/MATH (3)

- PART-I-- -.
© . (MATHEMATICS)

. [Taken as’2 if nothing else is said aboutit. ] |
Llakenas =7 geise

_ — 22 '
[ 2Ry 6@16Q QORI @ A6M T RIG S eRe e 1]

If the ratio of a pair of corresponding

-medians of two similar triangles is

7

- 26. g9¢ @qd §Qea 2gqd el "

p : g, then what is the ratio of the arcas .

of those two triangles ?

A p:g

- (Blg:p

27.

-(C')P?:q’ SR
(D) g P

Inacircle, PO is a diameterand 4B is
aChord. PQ 1 AB and PQ intersects

ABat K.1f PO =26 cmand KO =8 em,

‘What is the k:dgth of ABincm ?

(A) 10

- (B) 12

(€) 20
(D) 24

- 27,

9RGa  2AQUe p:g 6%€R, Q@

20990 6ALTRA AFAIG 6966 ?

(A).pté'

BYgip
S (Cyprigt

D) ¢ : p?

AT Qe Qud PO e AB 9

QU1 PQ L AB 4@ PQ B-AB @ 68e%g

K1 <% PO=2662.8. 6 KO=8 6a.d.
24, 66062 AB @ 6Lely 6@60 628, 7

(A) 10

(B) 12,

(@) 20

(D).24

(15)

( Space F()k R’bugﬁ WOrk )

(Turn Over ).



30

3L

CIf (4x +xy) (Bxy - yz)"12 s,

l
what is

(?

3 equa; to
3o
(A) 403
4 5'

B) zorg .

5.6
R (C) E or 7
6oL
(D) zorg

The ratio between two numbers is

5:6and their L.C.M.is 150. What -

is. the difference - betwccn the
numbers ?

T(A) S

(B) 7

©) 8

(D) 10

- ®)

31.

{A)

(C)

DET/MATH(S) .
(4x +x) ¢ (3xy yz)— 12 5

GQGGR ;Q qie GG‘G@ ?

. Q1
Q.
@l

<l

N - - N [T TV

(D)

gol~1 ~Iov &|ur Lals

QR QU6 FINYEE BGAIG 5 : 6 1 6Q
Lol QRCR R:Ql:g: 150 626Q, A°GHI
ZR8 FIY6R QIR 6R66 7

(A) 5

(B) 7

() 8

®) 10

( Space For ‘Rbugh Work )

" { Turn Over )



© 34

3s.

Given that log8 =p. and log9=g4.
Which'of the following cannot be
determined using the above data ?

(A) log 15

(B) log 16

(C) log 17

(D) log 18

Ifa:b=5:3, whatis the value of
(5a +8b): (6a~7h)"?

(A) 40: 11

(B) 49:9

(C) S51:7

(D) 55:6

34.

DET/MATH (3)

.98 28, log8 = p 8 logd = g.1 @UAY

P2l IR 9T AqY 6ead ade
FAUIR CIPQ @@ 7 '

(A) log 15

(B) logl6 .

(C) log 17

(D) log 18

35.

QIR 6G68 7

a:b=15:3 6ce6n,
(5a+8b) : (6a -7b) @

(A) 40 11

(B) 49:9

(©).51:7
(D) 55:6

| (Space‘ For Rough Work') T

© 19y

{ Turn Over )



DET/MATH (3)
37. If log2=a and log3 _="b,- whatisthe  37. lbg2‘=j a  NQ° - log3 =} " 626R, -

valueof logiz?. logll @Ameaee T

A) 2a+b-1 - C(A) 2a+b-1
(B) 2a-b+1 - o (B)2a-b+1
(C) a-2b+1 o (€) a-2b+1

@ a+26-1 . . (Da+2n-1

38. Which of the following is equalto 38, §9g° 6@6d
 logy25+log, 50—log, 2 o

log; 25+ log, 50 ~log, 2
log 125 “

- log;125 . AT,

wt @
3 (B)
4

(B)
G . Of

' | P
o O

- ( Space For -R0ugh' Work ):

(21) ‘ ' - {Turn Over )



a1,

For what integral value of 5c,,_

XM _9x2*+10=07

(A) 2

(B) -2

() 1

D) -1

42.

If @"=b"=pand b*=a’ =g, then
‘which of the following is true ?

(A) pg=mn+xy

(B) pq=mn-xy

- (C) mx—ny=0'

(D) mx + ﬁy =9

'DET/MATH (3)

41, x @ 629 94! A NG

A) 2

(B) -2
© 1

®) -1

c_i’” ;b‘" = p ﬁQi b*=q’=gq, GQGG}, |
- 8QQ 6995 Qey ? e

(A) pg=mn+xy
(B) pg =mn-xy

(C) mx-ny=0

(D) mx+ny=0 B

( Space For Rough Work )

(23)

{ Turn Over y .



43.

Ifablock of wood in the shape of aright

- DET/MATH (3)

| 45. 6B Q0R 90 gfie dRee ale,g@

circular cylinder, with diameter equal -
to height, is reshaped into a sphere of

of the surface arcas of the original
shape and the new shape ?

(A)4:3

"(B)3:2

46.

(C)2:3

(D)3 :4

One d1agonal of arhombus and a su:le
ofit are equal in length Ifthe area of

‘maximum size, what will be the ratio

46.

the ruombus is 7243 cm?, what isits
- perimeterincm. ?

“(A) 36

(B) 48

(©) 54

| _ (D)60 '

B89 QIO S9Q UL 8 Q6! AR |

- qEQ 98 9eed 69IRe ateg@ a5

og 996 F6R, 94Q 49 9Ag QUeR
8 Q68 QgR RN AT gYSRS
CHGTRR AGUIC 6966 7

(A)4:3

4-(13)'3:'2

©)2:3

 (D)3:4

9@ 698 CaITN @da i, weie

N8 QIgR 63y 92 QIR NS° NI

cagae 72V3 @d 6.4, 626R, w219

Q891 6060 6Q.5. ?

(A) 36

(B) 48

(C) 54

(D) 60

~ (Space For Rough Work )

,'(.25 )

(Turn Over)



49.

What is the ratio b‘etwce'n the area of -

~-an equilateral ‘triangle and thatofa
- square if thelr perlmeters are equal ?

'(A) 43 -3

(B) 4 : 3\/3

(©)3V¥3:4
(D)3:443

50.

-What is the mediah of the odd numbers

that lie between 25and 612 -

(A 42

L(BY43

- 5L

(@4

(D) 45

What is the mean of the rntegers from

—8to+14 7

A7
B)6
(C) 4
(D) 3

49,

. DET/MATH(3)

qale el S99  6aIt QARIg |
G@ﬁ? I GGIEG‘\”I @faesagra GQQU@@
2gaIe 6q60 ? -

ROR-RE

(B) 4 : 3W3

(C)3V3:4

(D)3:443

50. 25 8 61 FRANGE aqa QPIAITA

s1.

Fllde GG?GG‘ ?

-(A) 42

Ceyas
44

(D) 45

-8 0Ig +14 adie qda-aunIReTa
FlIYFLR 6Q6e 7.

(A7

S (B)6
(O 4

(D)3

(- Space For Rough Work )

(:27)

: { Turn Over }



' 54, What is the rationa

. 5S.

l:equ_i\}aleﬁ_c_e of

f

DET/MATH (3)

54. 0-321 @ 9R6AA AR 6966 7

0-321 ’ .
' 47
47 A) 135
(A) 13z . _
7135 . 49
) A9 - B) 145
Bl .
| | oy Sl
51 € 155
() 135
53 &3
165
Which of the following does notlie . 55, @99 69Q% 4 ¢ = cRie@l 6% ?
between Jand & - A
R 31
I (A
~ Cony 49
- 49 B) £
(B) %0 N 60
. . 61
' . oy 8L
© o © %o
' : 01
g D) b
(D) 1927}_ (D) 120

" Space For Rough Work )

(29)

(.-Tum Over )}



58

'(A)

1f log,,p* =a - log;;q* then what

‘is the value of p‘2 7

,3 .

l 0“({

®) 7 0-“

(C) ¢* +107°

(D) q] o 10—0

. 59.
of - the

If x* - Txy +y*=0,
%(iogx+ logy)?

(A) log(x - y)?

(B) log(x + »)?

(©) log 3

(D) log x;y

then which
following. is equal to:

5.

log, P =a

. DET/MATHQG).

| ?119165?6@ ?

- 59,
| —(logx+10gy) qsz Qe 7

(A

3

0—-(1

(B) ¢*. 107

(C) ¢ +107°

D) ¢ - 107

X - Txy + y* = 06268, 999 6ad

(A) logx -

(B) log(x + )

(C)',mgx?-’t

X+y -

. (D) log. 3

" ( Space For Rough Work )

_(31)

{ Turn Cher ) '



DET/MATH(3)

62 The product of two consecutive 62. qa@ gﬂﬁ? umg_a LYQMIR slelqm

‘ p031te even numbers is 224 ‘What 224 SQG&}.‘( 6d Q"%N!QQ ﬂuqqsﬂ aqq -
is the odd number between them ? QAT 6960 ?

@ 1 R Co@n

®) 13 | R (B) 13

©i1s o1

(D) 7o o o 17

63. __The hypotenuse of a right-t‘riah‘gle is 6:3'. @ OSSN G"_},QG'Q. age Gﬁ'al'l 20 4.

20 m long. If the difference between =~ 6 2Q4 @R QIgR &@dia aide 4 &.
the lengths of the other two sidesis = 626R, QQG‘Q ﬂg@ﬂ Q@e Gﬁ‘ﬁlq GG?G’G

-4 m, what is length.of the shortest R - T ?
side in metres.? :

we (A)'lé _
@ ® 10
(C) 8 o . s .
oe . o

( Space For Rough Work )

(733) I ) 7 B { Turn Over )




66

6.

What lS the dlscrlmlnant of the

equatlon |

ax? +(c+2a)x+(b+c) 0‘7
(A) a* - 4ab + 4c*
(B) @* +4ab + 4c*

(C). 4a* + dab+ ¢ )

(D) 4a? - 4ab + c*.

If one root of the. equatlon
x2 - px+ g =0 is two times the other

" one;then which of the followmg is

oo zirue?

(A p*-9g=0

(B) 2p*-9g=0

(C) 2 +94=0.

(D) 2p*+9¢=0

67.

66.

 DETMATH)

ax’+(c+2a)x+(b+c)=0
AFNQQER RTR 6Q68 7

(A) @* - 4ab + 4¢*

(B) @ +4dab + 4

(B) 2p* -9

(C) 4@ +4ab+c> -

(D) da? - dab + 2

Txt-pxtg=0 caﬂmraéza 6915 1

L "a@qga qmqa eqem Qﬂﬂ 699G
e

(A) lpz;igzq‘-_;_vo Lo

(©) p+9g=0 *

(D) 2p*+9g =0

35y

!

N { Turn bvgr }



70. .In an examination, the mean mark of

71

the boys of a class is 87 and-that of the
gitls is 3 less. If the boys and the girls
in the class are 18 and 12 respectively,
what is the mean mark of the whole
class - ' '

(A) 84-4
(B) 84-8

(C) 85-4

(D)_85-8

. In A4BC; s4BC is aright angle and
- BD LAC.IfAD=acmand CD=bcm,

what is the length of BD 7

A) Vo753
(B) JZ+-J3 o

- (©) Jaxb -
BN W

DET/MATH (3)

70. 9@ UNACQ QTG 6g4Nea A
. ARRGFEA  QARD FIRINFIE AR

87 9@ QERIFANFTA PRAQ FARKAIR
gRi 3 6F 1 98 Q9 68910 QPR G
QG DG elged 18 6 12 cgiRelN,
6669 6Q% 6gdla dflg TNRQ
QAR FINYIR 6968 7

(A) 84:4
(B) 84-8

C) 854
(D) 858

. "NABC '.Gé,r ZABC QPRI 9e°
“BD-LAC:t 1 @9@ 4D =a &d.@. G

CD=b 69.5 29, 666@ BD @ 6%at

e@e@?

&) Jarb
(B) Va+Jb |

(C©) Jaxb N
I' (D) \/al +b?

- . (Space ForRoughWork)

L1y

(Turn Over )



’;-Q_

ﬂ74

Given f:x - highest prime factor (;f
. Which of the following isthe.

T4

range of ‘f’, when the domam is T

:{12 13, 14. 15, 16}'? -

;"3(A) {2 3, 5.7, 13}

(3) | _{.6._:13,__‘7. 15,___2} -

CTDY (3,157 7, 5,2}

75.
‘- andy donot satisfy the equation

Which of the following values of x

U leg x s 2y= :'o,wh'enaaé 29

-(A) x*"l y 0

~(B) x—4 y—l

(C)x=16,y:2""

DET/MATH (3)

9@ a8 f:x—> x @ Qeed &iae

 QE619 1598 69QQ o dgie, 9@
adae {12, 13,14, 15, 16}-99 ¢

REORCSER ST S

_V(C){313 7, 5 8}

i:;:-.(D) {3 L7, 5 2}

75..

* 8y Q Beg 6o AN QIR AR
logx-2y=0 @@ g\o m@ sraao‘
a= 2 T

@ x=1,y= 0

(B)x 4 y"'l

(©) x= 16’; y=2 S

(Dyx=32, y=4

= ( spaceFO" Roagh--:Wdfk )

{39)

{ Turn Ove'i-"ﬁ':"



" 77.(a) Pressure exerted by abody of
- mass 20 kg supported by a base-
area of 250 cm? is 8 X 10* N/mi?

th)
shape and size of the container.

{c) The pressure ata point within the
- liquid depends on its depth from
- the surface of the hquld

(A) (a) and (b) Vare correct, (c) is wrong

(B) (b) and'(c)rare ‘Wr_ong, (a)is correct

-(C) (b)is wrong, (a) and (c) are correct

(D) (a)'; (b)-and (c) are correct

78.The wemht of a-stone 1s lOOg in air.

‘When it is dippéd inkerosene, it

weighs 75¢ and in salt solution 60g.
The relative density of salt solution
with respect to that of . kerosene
would- be

(A) 1.6
BY6l
©)26
(D) 60 \

Liqmd pressure depends on the -‘

DET/PHY (3)

77 (a) 9@ 20 kg Qg@ 49 9gQ 250 cm?

aAlIa AA6a AYSA 4§ 919 699
8 x10° N/m?

(b) GoF UQER QI U (a;@)a a:@@
3 2AQ AR P00 Q6Q 1

(c) 099 Ady e TQER 9T TIY CaR
aelde 999 a9 SNAG! AACH
faa feat

(A) (@) & (b) 0f () am

(B) (b) 8 (c) R, (a) OR

(C) (b) R, (a) 8 (c) OR,

D) '(c';)','(_b)‘ta '(;,«i)-'fag{--- :

78. G648 daQQ SYER Baa 100 @)Iﬂ;EIGG‘ l

QIIg AEQIARER gPIREM 8RR 75 gIF
4g° Q8 Q1869 QEINER 60 gI 29 | |
6669 _QGQI‘E!Q Qg Qeaidia zisade

‘ “_'glg@l 699,

- (A) 1-6 -
®)61

)26

| (D60 . -

( Space For Rough Work )

(41}

( Tum Over)



DET/PHY (3)

80.Which one/are of the f0110w1ng 80 feqle ?IQJQ_ SQ@G‘/GQQQ@@ lalyey
" represent(s): acceleratlon T qelﬂ. ’? P
V2 - 1;1'2 7 : ‘ . ' V l _ uZ

| (b) (szwﬂf) ) 2(St2ut)A R

v—u - ' ' B

'(c) t | N e v-;u

(A) (a) 1s: wrong - (b) and’ (c) are o {A)(a)gm, (b)B.(c) 0.«
correct ' | | e
(B) (a) and (c) are correct, (b) is (B)(Q)G () GQ,(b)QG\ SR
wrong L | S |
S 2 H(C) (e)ORy(a) B(BY Gy ¢
(C) (c) is correct (a) and (b) are - ' - | :
T D@me@or.
(D) (a), (b) and (c} are correct ' ' :

e s i, (SpaceForROUQhWork) R

(43) R  (Turn Over )



.82,

83.

What time would be required to fill
completely a tank of 18,000 lifres

capacity by water pulled from adepth -

of 7-46 m by a motor of 1.5 H.P ?

| (A) 10 mirjutés"
(B) 15 minutes

(O 18 minutes

(D) 20 minutes

If two bodies A and B of masses M 1

and M, respectively (M, >M,) have
- the same momentum, then

(a) Energy of A > Enefgy of B'-
(b) Velocity of A > Velocity of B
(c) ‘Energy of B > Energy of A -

T Ad) Veloczty of B> Velomty of A

| (A (a) and (d) are correct, (b) and (¢) |

are wrong

(B) (a) and (b) are wrong, (c) and @

are correct .

(C) () and(c) are correct, (a) and (d)
-are wrong

(D) (a)and (c)are correct, (b) and (d)
a;e wrong

82.

83.

DET/PHY'(é)

18,000 @eq GRUQES! N9 SI56a
7-46 feq of Q@cd agdaise

QEIQ 1@ 1-5 AYIAQ! %1& emgqa .

6R6Q 999 Qe ? '

(A) 10 §iBg
(B) 15 §ide
(©) 18 69,
(D) 20 ane:

gRT @g A 8 B @ ogQ QaIgsa M, @
M, (M,>M,)) 86§ @@ ecaqce@a

‘ ‘21“6@61 aqale g9, 606Q

(@) AQ o3 >Baag_
(b) A @ 98626 > B @ 9&6ed

() BQa@>AQed
(d) B 08699 > A @ af6ed

(4) @ 6 (@) OR, (5) 6 (©) WM

(B @6 ®) W, (©) 8 (@R

. .(C) (b) 6 (c) aq-, (a) 8 (d) ®

(D) (@) 8(c) B, (6) 8 () QA

, -( Sp‘acé"FZOr Rdugh'Wérk) |

( Turn Oer )



DET/PHY (3)

86. A 1.0 m long metalllc _w1re of ! 86\216? gggg{éga §§|Q"i.‘0‘_¥ﬁg@\ A9
‘.umtorm cross-section is drawn S ISR Bieg S18 ¢ 9aeAIseR a5
into a3-0m long wire, of uniform | 3. 0”?1‘8‘61”'6:1191 'QQIGIG;‘U% [ Q?Q o

cross-section. What would be the  gBsan ﬂﬁ @IQQ g@gg;ug 6R60 g@
_remstancewof: the new wire com- o 649 ? o

pared to.that of the original wire ?

(A) 3 times - - (A) 3 ga

(B) 9 times e
- (D) 5

(47) ‘ " { Turn Over )



88. (a) A fuse-wire is made of an alloy

- of copper a and tin,

(b) The house- -hold w1r1ngs are

parallel ones.

(¢) Qutof the two bulbs, the one
- which has fillament resistance

more, will glow more brightly. -

(A) (@) and (c) are wrong, (b) 1s :

correct

(B) (a) and (b) are correct, (c) ISV

wrong.

_(C) (a) is correct, (b) and (c) are
~wrong :

| (D) (a), (b) and (c) are correct |

-

DET/PHY (3)

© 88, (a) GOR Sl SRl 6 Fan 1@ Ag-

2iIgea ’@ﬁ@ |

(b) Gl@ GIQ@"@[@@ deIel® adae -

k?JGG‘I

() 200 caqida 9@19@1@; a@ia

FRICAER 9R6AIN 2NS, BN 2NG

QAFR 621N 9 1

(A) (@ 6(0) a9, (BIOR

L ® @M R W

(C) (@) R, ()8 () QR

| (D) (a),_‘.:(b) 8 (C) oq -

( Space For Rough Work)

C (TumOver) T



90.A forcé when‘actsA on a body east-wards;
~ the body is displaced 40 m. When the’

. force of same magnitude acts on the
same body (from its new position)

south-wards, the body-is dlsplaced'g
30'm. The magmlude of the resultant

displacement of the body would be

(A) 10 m

(B) 50m
(O T0m
(D) 1200

91 The. momentum of abody of mass
2kg changes’ from" 80 kg m/s to

50kg m/s. The changemlts kinetic
-energy would be- o
(1\8)625‘1"] -

B9

(Cy1200J .

(D) 16007

DET/PHY 3).

90,6018 9g Q960 9% SA 211gq oS
QaeIg 6121 40 figa @IS 62RI 1 9§

9ga 96 2egiey 6aT adneR 9F

- GRe Q9 Cipg dedis K@l 9gl

30 Aeq 3gITe 620N 1 666Q @g@

_ ‘E]Qéllm Sl GQQ

(A) 10 Aeq -
~“(B) 50 @eq -
~ (C) 70 GeQ

(D) 1200 FieR .

91 efansk:] 2kg Qg@ 839 9gR 699
80 kg m/s @ 50kg m/s §’ GQQ@Q

GQGER flgla 98e" 'SIQQ "JQG‘@Q GQQ '

. (A)‘f.ﬁ?s m |
B 9IS

(©) 1200 g8
D)1600gR .

(‘Space For Rough Work)

{ Turn Over )



94. For what properties, mercury is used

‘(C) (a)and (b) are. wrong (c) and (d)

as the thennometrlc substance ?

(a) Due toits hrgh thennal expansmn

| (b) Due to its hrgh dens1ty
{0) Due to its greater specific heat.

(d) Due to its property of non-
stlckmg to glass

(A) (a) and (d) are: wrong, (b) and (c)

are COI'I‘BCI

(B) (b) and (d) are eorrect (a) and (c)

. .. are wrong.

are COITCC[

e (D) (b) and (¢} are wrong, (a) and (d)

gs.

- are cor:rect

’What_ would be the temiperature of
- the mixture when 2 litres of water-at
: 10 C 18 mrxed wrth 5 htres of water ’

atSOC”

(A) 35°C

(B) 45°C

(C) 60 C: ":3'.

- %4,

DET[I_?H_Y(S);
S[[al} eoo eaa qa GQ@G‘IQI@_._

QIUAIE TBER. G“{QQIQ G?Q}QM ?

(@) <20 28 QI gARe g4 6alg
(b) QI8 2e AL 6RIY-

R () :'\Q_QIGI_ aaro‘@@a-alosolé{

(@ }a-@i,' oaoea | a:@ose "alié" |

(A) (a) (3 (d) @1@ (b) 8 (C) OQ

- (B) (b) G (d) OQ (a) @ (C) @ﬂ

L ©@e (5):%};- ©)6 '(d)_ o)

OB W, @D

9s.

10°C QIgIgl @ aae 2 meo aoae 80°C -
glogigl §8g 5 Aeq  eF AR

~ Ages @tomgl 6860 629 ?

(A) 3.5._ °C

(B) 45°C

E (D) 70.f’4_c:__

" ( Space For Rough Work )

(Twn Ov‘er)



97.

98.

Two electrlc bulbs. P and .Q have
-flllament resistance-in the ratio of

I:2.When they will be connected
in paraliel to the same source, the
ratio of the. powers dissipited by

“them shall respectively be

(A) 2

[a—

| (B) 1: 2

(C) 4

i

14 |

A houée_vs’fith mziins._si.lpp]y of 220
volts uses five fans each of 100 watt,

' an-electric..iron of 500 watt, five

bulbs each of 20 watt, The minimum

capacity of the fuse wire to be used

_ at .the mam sw1tch of: the house
_should be .

(A) 15 Amperes L

(B) 10 Amperes .

. (C) 5 Amperes

(D) _2.-5 Amperes

97.

DET/PHY (3)

P 6Q 98¢ <R GweAegRen
gosane 2gale 1:2 #eg | 692 9@

| 9RSgANBAIR ARAEH 1Rl 6RQIBR
Q2 QR 6T FER 6AAIPFR AIGIR

98,

fAQ DYIKEF AFAIS 629

Ay2:1.

B)1:2
)4:1

(D)1:4

6alIE e ARG 220 6RINGE DQIQ 6AIIE .
6208 6Q%aea 100 gIg Q&g 5¢
a8, 500 GIo! 3 IR ACARER 21,
20 gis; Q8. 50 eRQ. QUege 6aal-

QIR QRRG 6960 IR qqq e gosa

@q@qg 6291 Ziagia 7

| (A) 15 ajﬁaq

(B) 10 Afae
(C) 5 aifiaq

(D) 2-5 alﬁﬁm‘/

~(Space For Rough Work)

{ Turm Over)



DET/CHEM (3)

3. On heating 10g of _cﬁlcium_,carbonate

how much carbondioxide at NTP would -

be formed ? =
(A) 2241
(B) 1121

© 4481

o (D)2241 k

4. | Whi.chl one was discovered by using
- perforated cathode in the crooke’s

tube? ' '

(A) Electron

(B) Proton - 5. .-

- (C) Neut.r&é')}l”

" (D} Nucleus’

3.

O D)224 8.

4.

10 ¢)l. QIRALF FIETIERTG LAY F6R
AGR 9I9 6 QI C1IGI6R 6R6E RISR— .

| GIRBIRUING 99N 629 7

(A) 224 @,

L (B) 1A

(O 448 P

GRE ARIER AQYD QICAR KRR,
. QQ9IQ, 6968 A1TYe sam 7 -

©(A) Q6RQER

(© qiER

(D) 1309

('Space For Folgh Wor)

(2y.

( Continued)



7.

DET/CHEM (3)

(a) Hydrogen has the highest calorific

value as compared to that of other
gaseous fuels. '

(b) It can be obtained cheably from
“waler. - ' .

_ (¢) Ttisnotused asadomestic fuel due

- to its explosive nature.

(A) (a) and (b) are correct and (c) is
wrong ' |

(B) (&) and (c) are correctand (a) is

wrong

(C) (c) and (a) are correct and (b) is
. wrong -

V(D) (@), (b) and “(c) are correct

(a) ?J??‘llﬁ“i Q‘HQHE?A 0/ QQG‘IGQ
. AEQeERn QHIGGIIQTQQ‘I Q]Qiéiﬁ??
, 8166" b ' '

(b) 9giea <@l SRq gge @l

QIAAIRS |

(&) 920 B6aIe dAelg a1
Q6aIR QR Q6a  QIeAR
 eaIa@ Q1

- '(A) (a)@(b) osi qe°. (c) qa
(B) (b)@ (©)0R 9% (@ 9
© © 8@ () @R

(D) (@), ()& () OR

( Space For Rdugh Work) -

. ( Continued }



' DET/CHEM (3)

10. Which sequence of the scientists - 10. 96RIgY fINgRea FeIgH 2RaIa

associated with the - sequential a8 |60 gé‘m@@g]m@ g@a @gg -
discovery of the sub-atomic partlcles _ 'OQ 0
Is correct'? o :

; (A_) Thomson-Rutherford- Gdldstein- (A) &ﬂ%“@&%@"@ Gﬂ'ﬁ‘@ﬂ'm"

Chadw1ck' | o 9|@(39
(B) Rutherford- Bohr Thomson— - (B) 931@6‘3”@ 6QIFq-2eAR-
' Mllhkanr _ o ) ﬂ‘&h@lﬁ"
(C). Th(_)mson—GoIdstein—Rutherford- ~ (C) 2R-69INGRIRR-GRAETIE-
- Chadwick - » T QIQGw
(D) Mllllkal’l Goldstein-Bohr- (D) ARIa-CaineQIaa-6919a-
Rutherford - QARSI -

11. In the modern periodic table; the number 11. 2156 adya Q i@é}GQJGﬁ]ﬁQQ@QQ

of valency electroris of the elements aeedlae ‘@Gﬁﬁﬁ?ﬁ'@\ Qe

' tA) increases alo_ﬁg agroup = - - (A) 9@ gasa 9F cama
(B) increases along a period - | .(B) e gdqméé | §2IReUIN
(C) décrcases aldﬁg a éro_up | - (C) e gasa giq SQIQE{IN
(D),Vdecrea'sés along a-period o .. (D) 4@ fadqzmsra QIQI :SQEQEIM;

" ( Space For Rough Work )

(6) - o { Continued)



DET/CHEM (3)

13. (a) One molecule of Ammonium  13. (a) 96AIGAA TIETER R &g
~ phosphate. : ‘ ‘ '

| | e b) cIe1dign CIREgIEaea Qnd
(b) Two molecules -of Potassium ( ) <9 B FIeACH ;

dichromate A | 4

(c) Three molecules of Sodium silicate (c) QA AaeaaR T6qI 2g,
Considering the total number of | age@ggg‘e@q@. esageé SRS
atoms in each of theabovecases, - goaig aeonig 88 @8 §6qI9

- which . one of the following

_ I 699 @A 0K ?
. Sequences is correct ? L T

Wabe, O Wabe
_ (B)‘bc.d o . .(B)E;.ca o
| ©) cab Ce e | (Cycab.
(D) None of these I C (D)vagug eMedT qed

-

_’ (Space For Rough WO!‘k) :

(8) o { Contin_uéa' }



16.

DET/CHEM (3) -

‘Which one - yields least number of

hydrogen ions in aqueous solution ?

- (A) Carbonic"a‘cid )

.17,

(B) Sulphuric acid

~ (C) Nitric acid - |
(D) Hydro-chloric acid

(a) Sodlum Chloride is avallable asa
mineral.

' () Sodium Chlonde is used as a-

medlclne

() Sodlum Ch_loride isavailable only

from sea-water.

17

(Aj (a) and (&) :igg _cqrr_é_ct_; a_n_d (c) is -

wrong

wrong

(B) (b)and (¢) are correct and (a) 18 :

(C) (¢)and (a) are: conect and (h) is |

wrong .
(D) (a), (b) and (c) are cortrect

16. 6065 9919 QRa6R AdBe aee
AR6QI6HR, AR 9 @6a 7
(A) 916@19@ @
(B) AR 4&@({ .
- (O) fIegR Wde
(D) QR6RIeRIaR <@ |

- (a) 6APAN CRUARE  HERQED
'aemqu e@mam oo

(b) 8Q1BAA salam@ @taasysg

Q4996 g9 |

(©) 6QIBed 69108 - é@@@’@lﬂ@
A0 QAN CTIRAN |

(A (a) 8(5) 0R 99" () AR
(B) (1) 6 () BR %" (@) A
(O 08 @08 @ () 9

D)@, B8 (@ OR

{ SpaCé‘--’For‘Fi'ough-Wbrk ) -

(10)

( Continued )



20.

DET/CHEM(3)

Cu+ Iz = Cl_ﬂ;g .

(b) Thisis aredox reaction.

(¢) This is notaredox reaction.

" wrong

’ (B) (@) and (¢) are correct and (b) is

. wrong

(C) only (a)is correct . .

~ (D)only (b) is correct

1.

- "Ewhere

(a) This is a combination reaction. - *

(A) (a) and (b) are correct and (c) is

- ‘E’ isan element and *m’ and ‘»’ carry

their usual meanings. E will have

(A) m number of protons and n number

of neutrons ;

(B)n s number of protons and 7] number
of neutrons

number of neutrons

number of neutrons

(C)mnumber of protons and (n — m) -

(D)nnumber of protons and (m— n) . |

20.

21.

((B) n Qe €9I6Q,4e° m i

Cu+1,= Cul,

L (a) 9@l 9 n"e@”@o goaou 26S" T

(b) 921 9% 60989 965 216s, I‘:: e
(c) 42 4% 60gRa 96a 6% |

A@BG)ORE () 98

(B)(@) 8 (0)0R & (b) QR
(C)689% (a) OR
(D)eaae (6) ox

"E 6060 A
‘B> 9 65118@ 2160 99° ‘m’ @ W
6AAIGER QIRTS 28 S 998 |

- E6a e

(A) m QWS egloo Q" qmo-
QER L
m Qe
@;loo o
(C) m YR 6YITR & (7 —m)
QR QISR

(D) » CGHG 6QIGR 99 (m — 1)
QIR QUGN '

( Space For Rough Work )

"( 12) .

i (Coh.tinued }



DET/CHEM (3)

24.

- 25, (a) LP_G-iSa;primary‘fue_‘l_,'_ S

(a) Nichrome is a non-ferrous alloy.‘

(b): Anamalgamisanalloy
(¢) 22 carat gold is an alloy.

(A) ('_a‘) and (bY are c"Oﬁ_éét and (c)1s
- wiong -

24. () B6RIA 4R 671L1R RG FET | -

(B) (h)and (¢) are correct and (a).is; ,

_ wrong:

(C) (¢) and (a) are correct and (b) is
wrong SR

(D) (@), (b) and. (c) are correct

(b) CNG_ isa 'secprfdar'y fuel -

(c) Kerosene ié a pgim'ary fuel .

(A) (@) a;l_d (c) are gorrgct_ and ® is

wrong -

- wrong -

(C) (@), (b) and (¢) are cprrect

(D) (@), (b) and (c) are wrong

25.

-(B)'(b) is c'(;friéc't'andf(a)' and (c) are -

(b) 2R IRG 26T |
(©) 22 SHI66S GAI 9@ YRS 26T |

(A) (@650 4" () 9

(B) )8 (O]9 (@) @R

(©)(©8@0Rw® W .

(D) (@), (&) 8 (c) OR

(@) LPG 48 giafie 289 266 1

(b) CNG 4% {0199 989 268 |
(c) R6RIAR S gIafia Aae B6s )

®) @B)ORE B) @

(B) (1) 3R 95" (@) 6 (c) 9

O @, 6 R
D)@, )6 @ W

(14)

( Space For FI'OUQH Work).-

( Continued ) -



DET/MATH(3) -

28. Which of the following is a rational

number ?7- , o

(A) 1:0233233323333
(B) 2:3055055055 «oree
©) 3+‘/.§. N

Oymer

29, Which'of the following is a rational |

number that does not lie between /2
and /3 ?
(A) 14
EOREE
© 16

@y 17"

28,

g 699G e aGisqa Qodyl ?

. (A) 10233233323333 -

{(B) 23055055055 -

Oz

D) 2w+l
29. P09 6R9E 3 8 J3 ANI6R 296

@ YQl 9@ Qfeaa aen-7

) 14 |

@ 15

RCRr

(D) 1-7

. ( Space For Rough Work )

(16)

- (Continued)



'DET/MATH (3)

. 32. Which of the fol’lowi‘ngli“s ecjpalrto.

33.

A 3
By 3
© %
(D)%

x 7ty i iy o
X+ y+z. )

(A) x"y_.".é“"

(B) x]_z;“z"

(©) xylz

(D) x'yz"

For whét vali;e ofx

o

xly T4y lz gz lx!

32.
. xHytz

| .Bag sedd

Qg aaIg ?
(A) x'ylz!
B) xy'z!
.(d) xlylz.

(D) x'yz

33. x @ 606 AR Qi
-3(£]=(i)=q?.
7) \r)

(A)
(B)

©)

Sl vk Nw W

(D)

~(Space For Rough Work ),

(18) h ‘ (Continued ) -



DET/MATH (3)

36, Which of the ‘qu'l_:Owir_lg-'iS’"equal' fo
(x3 ~x 3 ](x 34143 )?

1-x R 1

(2 Ay a4 o
36. Qg 684G ‘(ﬂ =X 3-)[35 3 +1+_x3]
Qe Ae ?

4 ..

— X
.x2

x4

- (B)

x*-1
P

Xt
x4 .

i

—

e .
("]

1-x
x* .

()

( SPBC.G, FO!'ROUghWork) .

( 20 ) ‘ . . | (Coﬁiinued)




39

(A

D)

40.

| DET/MAT_H ®

If x+ a is a common factor of

: 2+px+qandx2+mx+n thenwhat

1s the value of ‘a7~

n+q
m-—p

n-—gq

. n+gq.
© wip

h—gq
m=p

F)=2x+ 3, xR,
What is the vaiue of fa

@) 1

(B) -2

© 3 :

(D) -4

if f(a) =-5 '

39.

(D)

40

(A

x'2+px+q(3x2+m5c+‘n‘61'x:-|-a'\<lﬁ?
A€l @QIG‘@ GQG@ {JQ qle

‘ GG-?G@ -7

+

ntq .-
m=p
q

n—
B) mrp

n+q
© s

n-q
m—p_'

. f(x)=2.x'+ 3, xeR |

a Q689 19 AR f(a) = -5 689 ?

A 1

C® -2

© 3

(D) -4

" (‘Space For Rough Work)

(22)

. (Continyed }
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43

. _l)ET{MATH 3)

If one root ‘of -the -equation

x*~5x+¢g=0 is3 more than the

other, whiat is the value of *¢°?

) 2

44,
o 7x—y=5and2lx - 3y =k will be

(B) -2

(C) 4

(D) -4

For what value of ‘#’, the equatlons

mutually consistent and dependent ?

w7

(lB)_ 10
© 12
(D) 15

43. QNGRS ¥ -Sx+g=09 6QIGNY

R, 2RV 26aNI 3 ZQ 6268, q@

e €aee ?

(A) 2,

(B) -2

) 4

44.

(D) -4

:ka 6a8 AR Qi Tx-y=5.499
"‘21x 3y k qmma @a aaqa

" age 8 HedIR 526 7

(B) 10

@ 7

© 12
®) 15

( _S;;acg r#of Rough '=W0rk’ )

‘.

(Confinued )



47. If eachside of an eqﬁilaterai triangle: -
_, l_mscrlbed in a circle is 12 cm long,
- what is the dlameter of the mrcle .

DET/MATH (3)

' m cm ‘7

-(A)8+\/3

(B) 8V3

(©) 4+ 3

48,

(D) 43~

‘Three circles, each of radius 7 cm,

touch each other externally. wa
much is the area of the sectors, in cm”

enclosed 1n the tnangle formed by

. j}ommg the centres 7

A) '7

77
® L

(©) 77

(D) 154

47, 99 9R6Q ASRYE, 1@ czme@ faea

P60y IR 6Gdy 12 6481 626R,

CRG Q@‘a ﬁ“ll‘?:] 6Q60 6.4, .

Ay g+

48'_
Q8 9e@ag T2 @6 |
 56aITQ Q19 KANIQIRI 2GR 2RI

(B) 83
(C) 4+ 13
(D) 43,

76a.8. @16 U §F G6aIT
609

f,",.'@ﬁl@ RUER El@% QeI
_‘,j’,,eggm es?e@ @@1 eq .2

_(A) —2-

®

(©) 77
(D) 154

~ (Space ‘For"-Rb“dgh éwo-ri}i )
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52. If ‘the ‘equatlon X

" DET/MATH (3)

ax—c  m+1i

has Toots which have equa} absolute -

~ values but are of opposite si gn.. What is

®

53.

(D)

the value of ‘m’ ?

) &b

(C)-Za+b

2&—5,
a+b.

What is the area, in sq.om,.of the

largest triangle that can be inscribed
in a semicircle of radius 3-5 ¢cm ?

‘ L
(A)7Z

NTICRRNS I
(B) 95

. 1
© 1

. |
(D) .15:1

~bx o

(D)

L ] -
v =bx |

ax=c.  m+l Q&HQQGQ 'QQQQQ
JRAFIe QAIR, AIg R Q@ 9918
0 Qdig 1 6669 m Q AR 696Q°?

2

o

+

(A)

S 1)
!
o o=

(B)

[}
+
o

2a+bh-

© s

2a-b
a+b

.35 6 f. Qs 3F%. 2sqasa

2sfiye 9ead aqea. esagm;e eqe@
o6 6Q.8. ?
1

(A) 7;

(3)92

)
© 2,

L

o) 15

4.

( Space For Rough Work ) “
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56

57,

For what value of 'K,
~ 5x%+ ko - 2

hasx -2 as a factor of 1 1t_ ?
Ay 4

®) 7

(C) -4

(D) -7

If4x3 - bx*+ x—¢leavestemainders:

56.

0 and 30 when divided by x+land

2x -3 respectlvely, what is the value

. Ofc b?

(A) 1_17-.
@) 9
(C) -11

(D) -9

57.;

ke e@a“ AR AN

.x—5x2+kx ZQx 2\'16.‘.
2Q12e 62 ?

A) 4

(B) 7

(C) -4

(D) -7

Q8 4%} bR +x<cQr+162x-3

| QoI IS R, QUGCH FLAIFEE 0 6

30 662, 606 ¢ - b @ IR 676E ?

(A)ll1

@) 9

{C) -11

(D) -9

('Space. For Rough Work )~

~(30)

* (Continned )



' DET/MATH@) -

60.

A bag contains .one-rupee coins, .

50 paise coins and 20 paise coins and

theirnumbers are intheratio3 :5: 8.

if the total money in the bag is 142

rupees, what is the total number of

coins in the bag ?

60.. 6QITN  ARER YGew- g9, 50 9Rd
qel 6 20 €Rd gia Qe aAgale
3:5:8) 2769 QT 6RIc 142 oW

- RIQ QL 2, 666R (QIgERa 6eIE
QG 6960 ? B

(A) 240 (A) 240
" (B) 260 (B) 260
H(C) 300 (C) 300
(D) 320 (D) 320
A2 o min 2 2
| 61. If m3n 3 Wha-t,l.sf _thtlzrrval‘_ue of 6l a*3n 3 6L6m, 3+
oo e §R6C ? C
o, |
3m? + mn
| 1
GY %— A7
® ® 3
) _1
© 5 © 13
. ) &
) 1“15" W T3
( Space For Rough Work)
( 32 ) (C'om{'n;;ed 9



DEMATHG)

64 A car travels 120 km from Ato B with’

g speed of 30 kni/hr and returns back

with a speed of 40 km/hr. What is the
average speed of the car in km/hr ?

(A) 35

(B) 35

~ ] 1

(C) 34

D35

‘What is the value of xin blnary form |
Cif(x), + (1001), =(101),? .

(A) (111001),

(B) (110101),

(C) (100111), .

(D) (1“01 101),

64

GGIIQ\'J QIQ A 63_8 adie 120 4.
Q@@IQ 2998 30 4. ﬂ' s@gea e
Q8 BqQ 4 adve aeige 408.4.

| 6oeqsa 6ard 2ITRI | 6669 9I9ER

23t} Qi@l‘a ALR GJ@-IQ@ 694

' 6@6@@‘?1 ?

65.

(A) 35

2
(B) 352

(C) 34

2 :
D347

(), +-(1001), = (101), ‘6267, x @

IR QAQUER 666 7.

(A) (111001),

(B) (110101),

| ©) (100111),

(D) (101101),

i ( Space For Rough Work ) -

(34.) .

{ Continwed )



* DET/MATH3)

68. ‘What is the binary equivalence of the

10-base number43:? -

(A) 101011

© (B) 101101

69

(C) 110011

(D) 110101

Lt Ceh L . F a -
‘The circumference of the base ofa

" right circular cylinder is increased by

10 % and the height is decreased by
~ 20 %. What is the percentage decrease
- causedinitsvolume?, '

'(A) 0-032

- (B)0:32

(C) 3-2'

(D) 32

68.

Qe-aRIQ  BEe @ 438 Q@

. OR06R FIe 6R68 7 -

(A) 101011

- (B) 101101

(C) 110011

(DY 110101

. 69. 49 299 98 9fie dReas ofie

. oM 10 % R FER NS, GE8Ig 20 %

QFIIR 626R, YR AR AGRE 6968
1A AIRS 7

- (A) 0-032

(B) 0:32

(C) 32

- (D) 32

" ('Space For Rough Work)

(36).

(Cofnfinued ) o
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72

A s

(©) 3

(A)

(€)

‘What is the smal]est value of ‘the

polynom1a1

4x2+6x 3 '7'

Bl—=

o [

(B -5

-
(D) .—35

_ For_nwh,ich of the following values of
s phidtpx + 2x2 + x* leaves a r_‘emain-
© “der"2p'when divided by 2x+ 1 ?

1

O
[ KPUR

(B) 1

o |

3
b |

3
| -(D) 1<

72

73.
4 +px+ 2x2 4 x; @_2x+ 1 QIQ! UTRER,
: 2p alaeﬂﬂ e .

4;!(.'2 + 6x = 3 ‘EJGIGG‘I?IEHG{Q @Q‘Gﬂ ﬂiﬁ’

: G@GG’ s

1
(B) -5
]
©) 33
| i
D) 33
r @ ORg 698 ae ag .

.(A)_ 2;

343
® I
‘ 3
(C) 2:

* 3
@ 17

" (Space For Rough Work )
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DET/PHY(3)

. PART-TI
. (PHYSICS)

76. (a) During conduction of heat, the
- particles of the conductor only
transfer energy to the neigh-
bouring particles without
changing their positions.

' (b) Electrical resistance of a cylin-
drical conductor is inversely

proportlonal to the square ofits

radms

(¢). Rise of temperature in a metallic
‘conductor decreases its elec-
" trical conductivity.

(A) (b) and (c) are correct (a) s
wrong - .

(B) (a) and (b) are wrong, (c) is

correct

(C) (b) is wrong, “(a) and’ (c) are |

correct

(D) (a), (b) and (c) are correct

76. (a) 69164 QORI QueR QI
60 696k GITS ERAYER
griede qeuIn 69eR 98]
QcQIeT 48Rl ARG, golo o
aKie )

@ < @ dReq wIqeRde . BQue
QAR gOsaR! GIRIR UASR
Qda glsmiagald aee |

(o). oraRIg) QR 6269 o GBaIR
31 05Qee A6l 21Q 6TIREN |
(A) (b) 6 (c) O, (a) QA
(B) () 6 (&) 98, () OR
(©) () R, (@) 8 () OR

(D) (@), () 8 () OR

" ( Space For Rough Work)

- (.40) ' R " (Continued)



DET/PHEE(.I-S)

79,

(A) (a) is correct (b) and (c) are‘ .

.(C) (a) and (c) are wrong, (b) is

Dis’ﬁla‘c_:ément' :

v

Tme

Inthe given grai)h . .
(a) BC, represents upifqrni velocity.

(b) AB, represehts
ve10c1ty

_ »_L.'_f(c) CD represcnts umform accele—

’ I'atIOIl

wrong -

(B) (a) and (b) are correct, (c) 1s'

wrong

- correct

(D) (b) is wrong, (a) and (c) are' o

COITCCt it i e

non-uniform

1

79. A -

gae . -

V.o

Qa9
-G8 6QUITReR -

(a) BC—QHGQG@Q@. QQI@S b

(b) AB-?JG]‘?] GG\GQQ(@_ Ql@laii‘ .

3 (c) CD-qg@ae]a qpras |

-‘ (‘A)f @ 0%, &) 'G (,c') @ﬂ'_ o

(B) ()6 () OR, () §R ...

O @6 @R B)OR

(D) (&) @R, (@) B () DR -~

( Space For Rough Work')

(2)

(Continued)



DET/PHY (3)

' .+, — Distance
81.(a) Always velocity Time
() Always acceleration

_ Uniform vélocity
| Time

(c) Always retardation = change of

Velocity
Time "

_ “(A) (a) aﬂd (b) are - cotrect (c) is h

wrong

(B) (0)is correct, (@) and (b) are wroﬁg

(_C) (a) and (c) ai'e correct, (b} is wrong

(D) (b) and (c) are wrong, (a) is
correct S

989
(5 adei gag = 99 90659
(b adel qasl =~

. _ Qheseqafess
(c) Qdet fRe =

%1217

(A) (@8 () 0&; (R

- (B) ()0R, (@ 6 (5) 98

(©) (@) 6 () 0R, () QR

(D) (®) 8 () IR, (@) OR

"(Space For Rough Work ) .
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DETPHY ()

84 (a) Rad1at10n of heat does not need a

t_'_'.'(br) The temperature range of a_

85.

medlum aIways

" clinical thermometer 18 (95
o 110°C) .

(¢) The normal temperature of a
healthy human body is usually
37°C.

(A) (a) and (b) are correct (c) is

wIong

(B) (b) is wrong, (a) and (c) are.

correct

:..-(C) (@) and- (c) are wrong, (b) is

correct

(D) (a), (b) and- (c) are wrong .

What quantity of. heat is requxred to
convert 10.ml of _pure water. at0°C

to steam at 100 °C under normal-

- pressure.? 7.

(A) _1009 ln -
(B) 6400 calories

(C) 10,000 caloriés

(D) 26,880 calories, .,

.

84,

(a) QI G8ea ai QQG‘I ﬂl»’uﬂQ
ISR g\a ola |

?-----'(b) <% Q9 aasﬂmeao siaeig!

‘9’95 °C g 110 °C FRIBQ- &N |

(c) 28 AR 49169 ARG SITAIG]
QARIGEEE 37 °C 26T |

A @6 ®) 5%@. %‘ |

85.
| ;-.100 °c oxoﬂlgl G8% QIr6a (ﬂIQG?

® ® 8, @s (c) o

o @ (c) aa, (b) se

(D) (a), (b) @ (C)@.@s ciitd

oy oy pmmy

QIIER Sl AACAIR 69ARER) Afees

G gael ola Q6T oto aroa%o it

) 1000 GGPG'HRIQ

(B) 6400 sosom

(€)' 10,000 6a6RIa.,

(D) 26,880 eoeﬁn__!@ i

(46)

{Continued)



DET/PHY (3)

87. (a) We come to know about the ‘

direction ‘of electromagnetic
. field created around a current
carrying conductor by.the right
_'-hand thumb rule.

(b) We come to know about the

direction of motion of a current

carrying conductor in a magnetic
field by Flemmgs right-hand
rule. .

(¢) When currcnt passes through a
circular conductor, the direction
of the magnetic field is along the
tangent to the circular conductor.

(d) The fillament of electric bulb is

~ made of tungsten metal.

(A) (a), (&) and (d) are correct, (cj .
is wrong

(B) (a) and (¢) are correct, {b) and
(d) are wrong

(C) (b) is wrong, (a) {¢) and (d) are
~correct

- (D) (b) and (c) are wrong, {a) and
(d) are correct

87. (a) a8 Gg4q gelm QI0Q S1aee

629 §QiQ-gAe1a 639 9F 9,
cIgIa §9 ofie-ag @ﬁ?lﬁm dag
_, qral @lag\fl i ‘ |

o (B) 6By ng@ geIl ¢8R @_FLGHQ.

| 6RIQ6H QSR GITl 6RA Q9] OF
- QQQ, Q19 6gficea 984 aghan
QAL RUEFT 1

(c) 6UERERER ¥R QRNIQ R
F1RIEQ SQYIQ AR 29, 9T grata
69GQ @6 QRAINIQ menma Qe
ToeQ and | '

(d) GENRTR N6 ege TRIEAS
CIEYR, IR PUR 6RIRAN |

(A) (@), (8) 8 () DR, (c) 4R

(B) (@) 6 (c) 0%, (b) 8 (d) 4R

(C) (b) R, (@), (¢) 6 (d) OR

(D) (b) 8 (c) R, (@) 8 (d) OR

| Spéce For Rough Work )
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DET/PHY (3)

89.If the radius of the‘iunar_'orbifis X' 89, Q@ o8 *8Q QHIQ!I@ x' Qe 94, 6969

“units, then in 15 days the angular and

linear displacement of moon would be

~ respectively,

 (a) 90° mx

(b) 180°, 2mx

() 180°, 2x

(A) (a) and (b) are W1ong, (c) is
correct R e

(B) (b) and {c) are wrong, (a) is
' correct ' T

(C) (b) is correct (a) and (c) are
wrong

(D) (a), (b) and (c) are wrong

15 Bq6a 000 6180 3QI0R 6 6AYR
. 3QIOe QeIger 629, |

Aa) 90°% nx

() 1807, 2

, {c¢) 180°, 2x .-
(A) @ & (b) @R, ()0
(B) (4) 6 (c) R, (@) 0%

(C) () OR, (4) 8 () QR -

(D) (@), (b) 6 (c) QR

( Space For Rough Work)

( Continued)
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92 Force is

‘. (a) avector quantrty o

(b) the product of mass and accele— A

~ration . _
(c) Energy spent per unlt mass

(A) (a) and (c) are . wrong, (b) is

correct

. (B) (c) is correct, (a) and (b) are
wrong - .

(C) (@) and (b) are: correct (c) is
wrong

(D) (a), (b) and (c) are correct

93.(a). When. 20 N"forcei is applied on a
“ . . body of mass 8 kg, the accele-
- -.ration produced.is 2-5 m/s?

' (b) Gravitation is an isolated force

{c) The energy requ1rec1 in lifting a -

body of 5 kg mass to a helght of
-~ 2mis 100 J.

- (g= IKQI}’/S’)

" (A) (a)and (c) are correct_; (b) xs wrong

(B) (bYand (c) :are wrong, () is correct

~(C) (b) is correct, (éz) and (o) are wrong .

(D) (o) is wrong, (a) and (b) is correct -

92.99 6208,

. (a) % QGFa Qi R
- (b) 998 8 QI QTR
(0 @B e <gq ad el 0

® @ e @ aa®) 6@ |

(B0, (@ 8 ) @n‘
(O @EGORE@W:

(D) (a), ®8 R

93, (a) 8kg (oso:gm) ag] 28y 9@ @g :

Q969 20 FATR QR NS F6R,
. Qe 2- 5 ﬂoa/@oeneoo 6ee |

' (b) ﬂ@i@@él N NN Q@ 2T |

(c) 5 @6RIFI 9GS @fa'& °gq 2 e
Qeg QoIS A 100] . €8
- ZIQENG. |
(g=10 ﬂeo/@oe%oo)
(A) (@) 6 (c) OR, (1) @R
(B) ()6 (c) @ @0
(C) (b) Ow, (a)G(c) gm
(D) (e) @M, (a).6 (b) o

( Space For Rough Work )
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96,

- B
20 W

A 6 volt -Battjq' K Anjmeter
? _ o

_ In the given circuit d1agram on
: closmg the key.

(@) The reading of the ammeter -

would be 6 Ampere.

(b) The readmg of the Voltmeter'

would be 6 volt.

(c) Effectlve Resustance acrossA
and B would be 2 ohm.

; (d) ‘Effective Resistance across B

andA would be 1 ohm K

(A) (a) (b) and (c) are correct (d)‘

is wrong

o (B) (b) and (¢) are correct, (a) and

- (C) (a), (b) and (d) are correct, (c)

" (D) (b, (c) and (d) are wrong, (a) |

. (d) are wrong
is wrong

_ is correct

96.

o G@aa @g _agmea-qQ(key)@_ Q0

o @em

(a) meq QoIS 6 amqq 629 |

U (b) caIngdee ‘c'.lIO‘iIG{’ 6 CRIRG

. REQ |

©) A6 Bausa qq&? g@eaiu 2 (zq

69Q 1

@ B 8 A FRIER qqq geeeuu 16A "

A @, ()8 (0) 0%, @ '_

.GQQI

- B o®e (C) o, (a) @ (d) ‘iﬂ@

(C) (a), (b) 6 (d) OR, (C) '@Lﬁl

(D) ), (C) @ (d) @Lﬁl, (@ 0R

( Space For Rough Work)
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* DET/PHY (3)

When a resistance wire is connected

to a battery of 12 volt, the ammeter

‘reads 4 Amperes: Then the resistance

" of.the'wire would be

(A)3ohm

(B) 8 ohm

~(Cy 16 ohm
- (D) 48 ohm-

100,

Al

it A and B are two c1rcular conductors
. lof the same matenal and thickness

-+ carry-the same amount of current.
The number of turns m 'B'is twice that
- of A, but radius of ‘B’ is half of that

~of A. The ratio of the strength of
. the magnetic field-at the center of

PR and that of 'A’ 1s %

a4

1

®)1:4

12 |
2:1

= (Dy2:1 ...

99 9@ g”ga;a @la@ 12 eam@ Qde 9@

- QYI6eRT Ae <a°esalta1 @a@@ B[l b,

Y9l AfSR Qloue4 aFae 629 |

606 @ma g@eaia 6@@ o

(A) 3 Gq i

(B) 8 69

(C) 16 6a
(D) 48.67)

-""‘_;A @Bg@@ qamn@ ‘adeiel 1 0es
461 QQIQI9 6 6AI6TH §8g € QeI

U alfise §gie ees e1esa gede

6268 1 'B' 60 'A'Q 4R g6 9ie 6aal

73, A 'B'a QIQIE 'A'Q NIGIFQ 21l

- 866 | 'B'Q 69K6Q Q& QAL 6R6Q
‘aife a9 'A @ eageq ¢4 @fl@'lﬂ

63G ‘EllﬂE’JHQ 8!‘:10[@ 6@9

(A)4._1
(B) 1:4
(Cy1:2
™2:1.

( Space For Rough Work)
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LA/CHEM & PHY (1)

PART—I
T PHYSICS

1. The SI unit of 'Gravitat_ional constant - 2. Ifacar at rest accelerates uniformly to
Gis S | a speed of 144 kmv/hour in 20 sec., it
. - : covers a distance of, , -

X

(A) Nmkg" PR (&) 20m .

® ke (@) 400m
(C) Nmkg? - © (O 14%0m
® Nelkg? (D) 2980m

3. What is the dot product of two Véctofs 4. A jaVeline is thrown at an angle g with-

of magnitude 3 and 5, if the angle the horizontal and the range is maxi-
: _bemcen'them is 60°?. B o mum. The value oftan 8 is o
(A) 9.5 : | @1

B) 84 : . ® i

€y 7.5 | S ” ©) ‘/5

o 52 . D2

(Space For Rough Work )

(1) S (Turn Over)



7. Choose the false statement

“decreases 1f

(A) 'We go down from the Surfa_ce of o

earth towards its centre. .

/

(B) We 20 up from the Surface of

the earth

(Cy. We g__o_ from equator towards th'e

- poles on the surface of the earih. '_ T

(D) FGHE

(D) "_The rotatlonal veloc:1ty of the

N earth is mcreased

. A metallic bar is heated from 0 °C to

100 °C. The coefficient of linear

‘expansion is 10~ I°K.. What will be the
percentage increase in length 7
L {A) 0.‘01% '
(B 01% -
(© 1%
D) 10%

- LA/CHEM & PHY (1)

_ 8. "If M, and R be the mass and radius of
The acceleration due to grawty (g) PR

earth then the value of escape ve1001ty

.IS

A-' %
® |7
- [om.
m %
(©) _'>'GMLR;

10 Whlch of the followmg causes more
severe bums ?

(A) Boﬂmgwater |
(B) Steam
(C) Hot air

(D) Sunrays |

( Space For Rough Work )

(Turn Over)



LA/CHEM & PHY (1)

15.Optical fibres are based on . - 16.Two thin lenses are in contact and the
. o o focal length of the combination is

- 80 cm. If the focal length of one of the
lenses is 20 ¢m, the power' of the other

lensis -
(A) Tofalinternalreflection . (A) 166D
(B) LesS-scattefing' o : (B)74.00D
(C) Refraction - . | (cj' ~1.00D
' (D) Reflection o (D) 375D

_1,7.The capacitance. of a parallel plate ~ 18.The res’istivity of a wireidepends on its
capacitor does not depend upon . - T

(A) Arecaofthe plate : -~ (A) Length-

(B) Medium bct\weerithe.platcs_ | (B) Areaof _crqss—section :
" (O) Distance between the plates | (C) Shape
_ (D) Metal of the plates ' D) Material

(Space For Rough Work-)'
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" 23.Control rods used in nuclear reactors
" aremade of -

(A) Stainless steel

(B) Graphite
(C) Cadmium

'(D.) I’l’uto_nil__lm‘_ -

o,

LA/CHEM & PHY (1)

' Z4.7—raj¢s ,pas-s-in.g t_hfqugh a strong
- uniform electric field get deflected :

(A) inthe direction of electric ﬁcld-

(B) in the direction opposite to the

electric field -

() in the_fdireqt'ipn perpendicular to
 theelectric field

- (D) donotgetdeflectedatall. -

25.An atomic nucleus contains neutrons

~ and protons. The sum of masses of the -
. neutrons and protons in free space is

| (A_) equal to the mass of nucleus . -

(B) less 't‘h'an the mass of nuéléus

- (C) greater than t__he_mass' of nucleus

(D) sometimes less and soﬁ,l'etimes'_

 more.

" (Space For Rough Work') - -

. {Continued)



28. Which Q_ohﬁ'gﬂtétibn is i_mes,,si.b_lé'? g

owe
L w ap
©2¢

30, Moshell can accommodate maximurn

: ,.(A) 02 nos of electrons g -

_‘(B) (}8 nos ofelectrons_.'_‘_':" T

: (C)]g nQS.' Of.ele,;trqns .: e

(D) 32rnos. ofelectrons -

o B

o LA/CHEM&PHY(l) |

" 29.The orbital diagram in Whlch Aufbau s
g prmmple is v1olated is

7% 0 N R |

RS B 3 3 S

31 Whlch of the followmg molecule is m-. -
' lmearshape‘7 L ST

]'f*_(B) HzO
©
"'--(D)-CQI._. |

(Space For Rough Work) -~ =
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EEE 3 LA/EH}EM;S;PHY %)
38.'Li1nestone _isai_mineral of - 1 * 39 During extraction of metal ‘Which of
S : the following method produces slag ? -
(A) Magnesim . (A) Concontration -
(B) Caleium -~ 1 - . (B) Calcination
(C) Sodium S .~ (C) Roasting
@™ Potassxum - | . (D) Smeltmg

. . 40, Cartrldges are made from _‘ _ - L 741 In aikanes carbon atoms are lmkedby

(A) Bronze T (A), smglecovalentbond _
: (.Bj.-Brass . . o (B) doublecovalent'bond_:- o
~ (C), Bellmetal o (C) triple covalentbond :
"._'(D)- Nickel - o o (D) smgle 1on1c bond |

4-2.-'H,C =CH —group is knownas | '43 In Ion-exchange method the exhausted"
T T - . -cation exchange resin will be regene-
- rated by the treatment with

- (A) Vinyl o o LA moderately concentrated acetlc =
R 0 aEdd '
(B) Propyl I (B) moderately concentrated oxalic
S o -+ acid o : S
R (C) Methyl - B o 1 ', (C) ' moderately concentrated phos-
- vphoricacid - o
D) Ethylr T R _‘ (D) moderately concentrated sul-

phuricacid

( Space For Rough Work )
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" 48.Combination of ident};g;f&il monomers -

- (A),=dBpolymer -

L
S

__,#_f—"* o --(Bj' 'ho'niopolyrher:
S (C) hetempolymer

' "_ (D) polymer

49 Man 18 the receptor of CO gas Wthh_j:' o
‘ causes S
| '.'»-‘(A)- 'Blindnéss' |
- (B) Cardlac arrest
?'(C) Arthrltls .
“_'(D): Mém;lg;.tls_; x ' __: o

50 Wthh ‘of the followmg gas m‘, '

- atmosphcre a,bsorbs IR radlatlon 2 o

(A) Owgen -

'(B) Hydrogen
() NIII'Oan | |
'A'.(D) Carbon d10x1de

. (Space For Rough Work)
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55. The middle term in the expansion of -

- {(A)

- ®B)
©)
D)

© 57.Find the values of xandyif -~
= Dx+Q+)y=1-3

l.- oo
(.\"E':J is .

g
(’6

i -
chx

(A) ,\=—1,9/'=2
(B) x=2.p=-I
(C) x=2,y=2
D) ;L—=1,y_‘=—1

LAMATH (1)

4

* 56.Theno. of terms in the expansion of |

e

® 17 .
- © 10
. D) 16

58.1f 1, », @’ are imaginary cube-roots of
- unity, then the value of

(1—'9+_m2)7+(i+m'—'@2)7 is -

@A) -128
| IV(B) 218
L © 128
| (D) ‘ None of the_se.'

( Space For Rough Work)
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- LAIMA"I‘VHI_ (i)

'63. The radluS of the c1rcle S '. : 64 The‘ equa&ion of the circle which passes

2

x 2x+4y+1_0 is " through the points (0, 1) (1, 0) and
‘ (2 1)is - _

(A)' L B _ o : [N J'cz’r.jiz_—‘ﬁ—"zyﬂ;o -
7 By 4 T -- (B) xé—”y2+‘-72x ~=2y—1=0
| ___'(C)'._Z-»_ - - o (C) x + 37 +2x+2y -1=0
D) V19 - .- ) - . (D) Noneofthese
65.The projection of thé line segment 66._1fa line makes a;hgies o, B, ¥ with
- (1,3, —__1_) and (3, ‘2._,. 4) on Z-axis is. XY and Z-axis .rcspectivfgly, then the '

value of sin’ a +sin®B +sin’y is

‘W e

®ws T ®a2
s . ©0

.' ('D.) 5 | E ' (D) /None bfthése.r 1

.

- (Spagce For Rough Work')
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‘ 71.Th§value of-c.0 15 —i_?si_nl‘S"'_l_S i R

B f(B)

o
®)

73. The general solution of the eq:uation; :
h tan.ax = tan bx is- .

- x|+ :
K 5]

@

Cave

©.

. (D)

TR

. M o= —
Ly

cosi5®—sinl5° .

: a+b

na

-n:r—(afb)- :

Ndné of these. -

cos'2 0 +'s_in'_B--§- I

'(A)‘

L ©

CEECERC
eln SR elg wly

A 2:11:\/'-3-'_

‘ 74.In any ‘triangle 'A_BC,

7 LA/MATH (1)

‘ 72.The principal-SO_lution-,bf the equation

=0is

_ ifd:B:C=
1:2:3 then'sin 4 sin B: 'Sin___C is

L ® 1433 )
CL©) B2

D) \_/3:1.:'2 '

»

o 1_9') | o

(Continuecf )



© . 79.For what value of k the function given

" LA/MATH (1)

80.If y=~Jl-1_—Sin‘2x., fhen’%:.is e
L . . '

ke, if x>32. .
b : is cortinuous
yf(x) {3 ¢ g iSCOM ,
mx=2'
“ 3
4
(B)

3
© 4
5 3

4

' (D)

' 31 If = tan'l(i-l-;_},_then D

7 dx
S '.;.'-1 |
. (A)«H—f |
o - C2x -
(B) 1+x*
o
(e I~

) None ofthcsc .

- ®

TN

(A) sirix — cos x

(B) sinxtcosx
(C) cos x—sinx

(D) - Noie of these.
82.1 y=x*, then P is
B2 ly_‘_ x", then dx_ls_ .

@) (l'flog#)

logx 1

| (C) x (1+logx)

(D) None of these; '

( Space For Rough Work )
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S R  LA/MATH (1)

-8 I1+ d lscqualto . 88If [xsinxdv=-xcosx+4, then 4 is

. equal to

‘-:‘4(A) 'ln‘(-er“f+l|)+c'. - - ._ (A) '_cb'sx,+ -éoristaﬁ.t-.

a (B) In (e +1)+" . . (B) -conSfaﬁt S

© mese)e L © sinx-+ constant

(D_); N('_)neofthe_.se;i'f_. IR ; (D) Noneofthese
O i
) e‘f(a:)+c _ | (A) .log[(x 1)(x+1)]+c
('B)-_e*'f'-(x)m_ L ® R EVES SR
() e’[f(x)ff’(x)]+c - © prapoyLLE

.. - (D) Non.é of these. - _. | o D) "None_qf,these'. T

( Space For RbUQh ‘Work )
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" LA/MATH (1)

95.The-“soh-1tion of the differential .e,qua'-. ) 96. The differential equation

S 2 3 8 ' _0
tiom ﬂf‘tan}_’z,'(}-is - o - (gy +x+x )dx+(y _—y+bx)g)qbz—0
: tan x ' ‘ is said to be exact if

@ tiny=wnxtc. (A pea
®) tny.tnx=c ®B) b=2a
| (©) siny.sinx=c¢ - ) L € a=1 bs3
(D) None of these. | “ e _(D‘)'-_ be2a |
97. If a a:fd b are tI_WO unit vectors inclined . . 98.The valut::-(f_'f ;X(f x.]g). is’ :
at an angle 0, such that &+5 is a unit . ' '

vector, then @ is equal to’

® NGV :

>

RN BN N

© ©

o
£

|

© O i

7% ]

o ’ (Spabe For"Béagh'Wark*')
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- LA/CHEM & PHY (1)

5 A welghthfter lifts a welght off the 6. The momentum of a body is numeri-- |
ground and holds it up ‘ - cally equal to its kinetic .'coorgy. The
| | ~ velocity of the particle will be,
(A) .Work is done in lifting as well as . (A) 1 m/Seo

'-_r,holdingthe' weight. -

(B) No work is done in both hﬂmgr . (B) 4mfsec
o -dndho]dmgthewelght . e
(C) Workis done inliﬂiogﬂle-WGight, C(© Bmisec
~ butnowork is required to be done .

~inholdingitup. | -

- | : (D) No work is done i'n'lifting the .: D) 2 m}séc - :
welght but work is reqmred to be ' '

' Vdone in holdmg it up.

| ( Space For Rough Work )
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" LA/CHEM & PHY (1)

11. A metallic rod is continudusly heated 12.Thé time period of a simple peildulum
at its two ends. The flow ol heat through is 2 sec. If its length is increased by 4
the rod does.not depend upon :  times, the timgﬁ: period becomes,

| (A) The area of cross-section of the

d - (A) 4sec
ro ot _

(B). The mass o_fthe'rod'_ : (3) .6-‘sec B
H{C) . !‘ime bl’heating | (C) 8 sec

(D) Témperature difference ‘(D_) ,2 Sec

13. Which of thé'fpllowing statement is  14.The refractive index of water with
~ " correct 2 ' - ' : . 4

: : " respect to air is § and the refractive

(A) Both sound and light waves in air - | . L3

' : : ' index of glass with respect to air is A .

~ are longitudinal.
' . - : _ What will be the refractive index of -
 (B)  Bothsound and light waves in air water with respect to glass ?
' are transverse. :
(C) Sound waves in air are transverse (A) % y

while light waves are longitudinal.
- " ® %

(D)) “Sound waves in air are longi-

tudinal while light waves are (C) %
transverse, ' o

o (Space For R_Ough,Work )
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. LA/CHEM & PHY (1)

19.In the ﬁgure glven below the current 20. How much electriéal energy inkWH s

o passmg through6 Qrc51stor s consumed in operatmg ten number
o SRR - ¥ ¢ ! 50 watt buibs forthoursperdaylna--
. lZamp———-'WV\f"— | c mon'th.of30 days.
| L 4Q e .
@ 0damp (@) 1500
(B) 048amp- (B) 15000
© 072amp . . . . (O 15
. (D) 08amp (D) 150°

21.The magnetic field dB due to a small’ - 22, Lenzs Jaw is a. consequence of the,
current element & at a distance r an.d o law of conservatlon of
carrying current Iis

- =Ho | EX1 .. ,
(A) 5 4r [r J o . (_A)-(?h-arge_r
®) 3§=f;f(—%"—] o ® Mass
Tty g2 7>< ?" : N | T
o @r( I © Momeum
' — gy fdIxFY '

- (Space For Rough Work)
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LA/CHEM & PHY (1) : ST

PART—II
~ CHEMISTRY

26.The formula of a metal nitride is MN. = 27, Wh1ch one is the balanced form of the -

The formula of its sulphate is followmg chemical equation :

KMnO, + HC1 — KCI+ MnCl,

+H,0+Cl,
. (A) MSO, ~° (A) 2KMnO, +16HCI=2KCl
| +2MnCl, £ 8H,0 +5C1
(B) Mso, . ~(B) 2KMnO, +16HCl = 2KCl

) . | I +2MnCl, +8H,0 +5C1, -

(Cy M,(S0,), S *(C) _'2KMno +16HCl = 2KCl
+2Mn‘C12+8H20'+10C1 '

D) M,S0, o (D) 2KMnO, +16HCl = 2KCI

| " | ~ 42MnCl, +8H,0 +10Cl,

(Space For Rough Work )
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" LA/CHEM & PHY. (1)

32, Aminonia 'molc(:_ule'éaﬁ form =
) ionicbdn_d :

(B)

(©
™

covaient bond
co-ordinate bond

metallic bond

34.Wh.-a‘_c is the eﬁuivalent mass of

potassium carbonate ?

(A) 49 -
(B 59
(C) 69
Dy 79

; 36 In electrokytlc cell

(A) Chermcal energy is converted
. Into electrical energy

(B) Electrical energy is con_Verted
into chemical energy '

33 Which of the followmg 1s a Lew1s

acid ?

(A) CaCl,

(B) NaCl

(C) FeCl,
(D) SiCl,

35.pH values of basic solution willbe

@A)
(B)

greater than 7
lessthan7 -
equal to 7

©

(D) equal to 6

37.The quantlty of electrlclty which _.

produces one gram equlvalent of

- substance in Faraday's second law of ;

(C) Electrical energy IS converted : i

mto light energy

(D) Chemlcal energy is converted,'

into light cncrgy

- electroly31s is

VS Farad o

“B) Volt
- (C) Ampere

- (D) Ohm

. (Space For Rough Work ) '
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LA/CHEM & PHY (1)

44.Teﬁiporary hardness is due to '4-‘5.‘;In-ma1<ingllead pencils, which of the

presence. of - . following is used ?

" (A) soluble bicarbonates of Calcium (A) Boron trifluoride
-andMagnesmm ) - o '

(B) soluble carbonates of Calcium B Boron Nitride

and Magnesium

(C) soluble chlorides of Calcium (C) MolybdenumDiequﬁide
and Magnesium _' , | | | '
| (D) soluble sulphates of Calcium D). Graphite
L end Magnesium | | ‘

46. Molybdenum disulphide is stable in ~ 47.Calorific value of a fuel is the amount
presence of airup to ‘ of heat energy released by complete
' eombustlon of '

(A) 400°C o | (A) 10 kg of fuel
- (B) 600°C S | (B)...IOgmoffuel '
-.(Q) 800 °C- | ) _‘ (C)i.gmqfﬁ?el |
"(I\J)Ql'ooo'ﬂc S (D) 1kgoffuel

(Space For Rough Work )
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8 T =2
- 5_3.1f A=
o . 3 .

LA/MATI (1)

..."_‘\ .
"~
—
-

o~ PARTIN N
| MMTHEMKHCSi'Hy -

51. The value of the determmant - 52 If Kisa Scalar and‘?n S a nx# squarc

toa brel : - matnx then ]K/i] is equal to» TR

e
B () 0 < B
By 1 o ‘ _ o
C) a+b+c . - o
(D) ab+bctea . (D) K4

© Ko

LR

] ; then 4 + A" equals . 544 A‘=[' { _S},thcn adj.A_’is equal to

] : @ '[—1 "—5]
SRR o N1 I
[2 4] . S (B) 1 5] -
® lw 6l NN
N 2 4] ' S : N (G ]
- © [-10 6
| S Dy
(D) Noneofthese. N s
~ (Space For Rough Work ) -

[P

(9]
(=20

(A)'[

1

L)

(S
—

w F .
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LA/MATH (1)

"59'.Resolving into partial fraction if 60.The equation of a 's'tfaight line which .

I+ 4 B C passes through the point (0, 1} and has
(x—I)(x—_Z)(x—B)=x—71—+x—2+x—3 an inclination 45° with X-axis is
then the value of C'is
. 5 - . : " _
(A) = (A) x+y+1=0
o | o
(B),;‘ B) x—y-1=0
N9 - s
©) 5 €y y—x—1=0
(D) ane of these. | ' (D) None of these:

61.The distande,beﬁween the parallel lines’  62.1f p be the length of the perpendicular
3x—4y+9=0and6x—8y—15=0is  from the origin on the line whose inter-

’ ) : cepts on the co-ordinate axesare g and

b, then it satisfies the equation is.

| 33 - | ‘ -
(A) 0 . . B (A) p=vd +b
10 7 : 1 1 v
_ . _=_+_'_')'
(B) % : o ‘(B)‘ PR
o 2 | ]
© 15 © P57
(D) g ; - (D) Noneofthese. -

( Space For Rough Work )
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. LA/MATH (1)

oL

67 The angle betwcen the lmes whose

“direction ratios are (2 ‘3, 4) and

. (1 2 l)ls

®) 3
© 3

o

69 The equatlon of a piane perpendlcular-
- to Z-axis and passing through the pomt '

H_"(I =2, 4)15

@ e

- .'(B.) ‘y.+2_'=0'.7 o
.(C) z—4=0
_(D) x+y+z——3 0

68. .If two piéméé Ayx +Bly +Cz +D =0
and Ax+B, y+sz+D =0.
parallei then it satlsﬁes the condltlon f

1s
AR
(A) A, B,
S A B '___...C.’.'l-
® %8¢,
o ﬁ= B, ?&Cl

.'(i\))" Noné of these.

',70.If__cq's()‘-—; -Q% and z <8 %%,-then the -

© - value of 4tan®6 -3 cosec’d s

S

om0
(C) 5
'(D)lo |

( Space For‘Rough Work )

. (18) S - - o :_"(“TurrriOver)r' ’



"LA/MATH (1)

B i Sk-6
75.Intriangle ABCif 762" oo T sewalto
| | cosA__cosB_cdsC_ _ L .

, ~a b e
then the triangle is.

g :

(A) equilateral

VeamY
=
po—
Ol |t B

- (B) . isosceles

—_
0
e - .

(C) | scalene

() rightangle N

" |-

' D T L o Gim o 1-cosx |
77.Th¢ value of xlflll,o (I+-§] is . -78.Thevalue of xm‘lg 2 - s

we @

e @

N S e _

© e . L ©

(D) None of these. :

INEE

L)

' (Space For Rough Work)



. LA[MATH hgl)' |

Y R o dy
_ A83.If x = y.',kthen Eﬁ— is , ' 84.Ifu=#,and v=sin £, then &i)—‘is‘ _

:‘j(__A). _ x- | : | o (A) cos’t K |

- ®) ®B) 2tcosf

| €y - X e . (,C): ST

X

"~ (D) Noneofthese." . D c_ést’_ -
SSIf f(x)_=x3—‘6x2+f9:_c+7”,_ th’éﬁ_t‘he _ 86 "sin(a-i-%de is e_quzilto |
- local minimum value of f(x)is | | R |
@ 7. L R P (A _' cos.(q'+§-)+cl
(B)_.ll L e S , _(B)l -I-b_cos[a'-i-%)+.c
© 6- S -bs‘in(a%];c -

("Space"Eor Rough.Wbr[_ci) R

2y . (Tirn Over)



" LA/MATH (1)
91.The value of the integral
]‘|cos;x|a’x-_is
@
" .(B) 2
© 0

'-(D)-—"l _

93. The order and degree of the differential

o ' Y -
o (dyY Z af2 :
- equation {1+ == 5 dxl is -

(A) order 2, degree-2
| (B) oquf 1, degree-3 -
©) Orzi_e!:'Z,'degree-ié

(D) order 2, degree-1 "

92.The ‘area under the cuﬁe y= 2% »

mcluded between the line x = 0,x= 1
andX ax13 is. - -

1
(A) .7 56 units
:(B) 272 54 umt_sl

. "3 ) ‘
(© 7 5 units

- (D) 3 8q- units

-~ - L B

94, The 1ntegratmg factor of the lmear
d1fferent1al equatlon '

(A) 1+5°
C2x
_ 1+x

(B)
(C) 4x
l(D) None of these.

( Space For Rough Work )
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LA/MATH (1)

R 99If7—sm [ }
. ¥

-

oz . -
then———ls :
N S

. 100 If V= :c3 + ‘cz,\:y2 satxsﬁes the equatlon

-

. 2 2 T
76v+6 _0 then the valuc ofa is -
&' :

@3

(Space-For Rough Work)
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commencement of Examination.
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' NE/MATH (2)

4. If fWice the son's agc (in years )-is added’ touthe. féth'er‘é age‘,Athe_sum'is 70, But if
~ twice the father's age is added to the son's age, the sum-is 95. The father's age
(A) 30years . -
(B 40 years -
(C): S0years ~ . o .
(D) 60 years. |

5, Ifaxt+bx+c=0 has equal roots then cisequalto: -

B
® 5
©-%

4a

( Spat:e For Rough Work)

B

(2) . : _ ‘ (Céntingtf‘zd)

Pe——




NE/MATH (2)

8, The least number that must be a_dded 10 269 to make it a perfect square is :

(fA)- 20
B) 18
©) 16
- © u
9. _If x= ‘—\//-__z—:ilcandy'% %—%" then the va_lue'- of x* — y* i's.
® w5
L ®) 4B
©). 63
(D) 83

— ( Space F ér.R‘ough Work ) i

(4) - - | . ' ' (Cantinuedj_




* NE/MATH (2)

13.1f f(x) = 2;+23 a?nd)‘x# 2, x € R, then the value of %f(4) is:

™ g

® 5
© 3
o9

14 7 :R> Rsatisfies  (x+) =f (x) +/(y) forall x,y € Randf (1) =7, thern

n
r=1

YT
wEF

: '_:A('B): .5--7;(n,2'+-1) |
(C) Tn(ntl) .

. (b)_ 7n(r;+1)

| (.‘ASpa'ce F o.r-_Rc)ugh‘_“%fk )

( 5 ). : - (Continued)




NE/MATH (2)

17.1f g =2 and b = 3, then the value of (-‘-12- + -;—) is
@ D
®
© 5.
®) %
18. The fourth proportlonal of 2 3, 8 is
(A) 12
@ 6;-;
(D) 1

19 Two numbers are in the ratm 5:8. If 9 be added to each they are in the ra,tm of
8 11 Then the numbers are— L .

@ 10and16. .

®) 15and24 |

© 20and32 - -
(D) 25and40 R T

R er 1o

(8 o . .' _(Cantinued).




NE/MATH (2)

23.V <+ and V=12when P=5.1f '=10,then Pisequalto .
s - |
A 3 -
1
- ®5
12
- (C) 5
) 6
| 24 Thcvalueof log_9+ 3 108.,64'% log, 36 (“>0 ‘”"1) is
(A) log3- | |
~(B) log2
- (C) ‘16gr 6
'(D) iog 9
25 If antxlog(O 300) =1 995 the value of 1023 is :
(A) 00001995 | '
- (B) 0.001995
- (C) 0.1995 -
(D) 199.5

( Space For RoughWork) s - —

(1) - (Continued) .
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'NE/GK. ()

29. Prativa Roy, the famous Odia author is awarded a National Award for 2011. Name the
award. - ' L S

. (A) Padmabhusan
(B) Padma bibhusan
(C) JThanpith
(D) SaralaSamman

30. Who invented bicycle ? -

(A) Stephenson
- (B) Macmillan
(C) Edison
(D) Johnson

31.Who invented teleph’oné ?

A Maf:éoni
V(B-‘) Darwin
(C) Newton
(D) GrahamBell

( Space F or _Rr'ougkf Work ) T

(12) ‘ . ' (Continued)




" NE/GK. ()

36.Who is hanged on 9th Feb' 2013 in Tihat Jail for attack on the Indian Parliament ?

O (A) AzmalKaessb .
~(B) AfalGum
(C) Haneef |
(D) Sayecho_hanﬁnad

: '37‘."Iflf_1e wérld' fémods_‘Kumbh Mela' takes place oncein : _—

(A ‘10 years
~ (B) 12 years
~ (C) 8years

(D). 6years

- 38, Who presented ihe_ﬁﬁioh' Budget 2013 ‘?

(A) PranabMukherjee -
‘(B) P.Chidambatam -
(C) SaradPower =
(D) KapilSibal .

s g
e

~Space For Rough o)

.(.‘1'4) : C - o ‘(Continﬁed)



- NE/GK. (2)

4_27Nationa1_ Science Day is celebrated on ;

 (A) 28thMarch
(B) 28thApril

- . (C) 28thFebruary
(D) 28th January

'43;Kelﬁ Chmah Mahap&MWaS'aS'sodatedwith:’ S

(A) Kuchipudi
- (B) GotipuaDance
“(C) Odishi
(D). Manipuri Dance

 44.Pandit Rabi Shankar was associated with :
_(A) Flute
| (B) Tabla
. (C) " Sitar

(D) Guitar

. (Space For Rough Work)

.,_('1-6)

. {Continued)
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48, Who took over .tﬁe‘reg'ifrﬁé of Tata Cérﬁpanies from Ratan Tata ? -

(A) Y. Debeswar

 (B) AnilAmbani )
; (C) Cyrus Mistry o
) CSRau

49, Why s Chandipur in Odisha fathous? -

* (A) - Crocodile Sanctuary
- (B) Tigerreserve” -
. (C) Seabeach .
- (D) Missile testing
' 50.Santosh Trophy is associated with: -
(A) Basketball .
_ (B) Football .~ . & .

" (C) Baseball . o
(D) Hockey

B : (__";S‘pa'c';é For Roughﬁfork)

(18y T (C?Jnltiﬁued):'




' NE/ENG (2)

55, Light
- (A) travel S
(B) travels ..
(C) istravelling

(D) hasbeen travenmg

very fast.

56 There is hardly——-n- tea left
(A) -any
" (B) some
(©) few
(D) afew |

' 57 Wnte the correct answer
(&) of
(B) into
©) to
o (D) for

the 'qdestioh; :

Identlfy the part A /B IC /D in the followmg sentences that has an error. -

58 Faster- yourun,, the cooler it gets.
A . B C - D

© 59.This is the first time [am going to attend the meeting, _- R

Cpacs For Rowan o)

7(20) - o : (Contiﬁued)



" NE/ENG (2)

running from me like a herd of deer, although I had no intention of attackmg them; When1 -
'paused in front of a tallor $ shop, he abandoned his machine and shut hunself ina cupboard
waﬂmg, "Alas,Iam undone ! won tsomeone shoot that tlger ?“ : ' '

66, The word Tin the ﬁrst lme of the passage stands for: .

A Theauthor

- (B) Thetailor o | - o
© Thep’eoble _ o o o : R
(D) Thetlger B L sl I : S

67 The tlger had had the opmlon before enterlng the Market Road that human bemgs R
- Were - : . _ |

(A) strong and fearless
.(B) aherd of deer
E '(C) in the attackmg mood
(D) ‘behind the pillars -

68. Peopllo W‘_atohing the tiger in the circys were :

(A) frightened

(B) happy B
. {O) mqkmganmse .
. (D) perturbed e

( Space F o:Rough Pf';;;'k )




NE/ENG (2)

73.Abandoned:"_. V o | L o RS

&)
(B)
©

D)

stopped to work
continued to work
returned o work
started to work

Choose the right word from among the alternatives which is .ti‘pp-(l)sifé‘ in -
- meaning : ~ ' C ‘ . S A

| 74, Paused:

@A)
(B)
(O

dr0pp"ed'- o
stopped
stood
paced

" 75 Like:

»
(®B)
©
©)

onlike
unlike

dislike
disdain

"(:Spdce For R'bugh" Work ) o

(24) o - (Continued)
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7. The first person to see a living cell was :

~ (A) Robert Hooke

L -(B)' Robert Brown -

. (C) M.ISchieiden

(D) ‘AntoanonLeuwénhoék.

80. Which cell is phylogeﬁit'ié.ally advanced ?
(A) Unicellular organism |
(B) Multicellular organism

©(C) Bukayotes .

(D) Prokatyotes.
81.DNAs: - . _

(A) Alwaysdoublestandard

(B) Rarelysingle standard

-(C) Always sinéle standard |

(D) Rarelydouble standard

82.Leadin water causes

" (A) Eyedamage
(B) Lossofhair
(C) Kidneydamage
(D) Arthrits.

o (Spaqé_ .Fo.r‘Roungéfkfj

(26)

.(Conzinued) _
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86. Water matching distilled water can be obtained by -
(A) Permutit process
'. (B) Lime-soda process
~ (C) Boiling |

(D) Ion-exchangemethod,

87. What is the valency éf copper in CuO ?
@ | |
® 2
© 3
(D) 4

_ 88.The bond angle in ammoniais:

RNRRTTAPY o
C®

© 167“
D) 107228

O Spa?FQr Rough Wmoiﬂc )

() o o ' (Continued)
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PHYSICS |
~ 92.When sound tra{fels from air to water, the quantity that remains unchanged is
T e . -
(B) Frequency
| (C) Intensity
(D) Wavefength.

93.The bmlmg pomt of water decreases when surroundmg
(A) Temperature mcreases -

(B) Temperature dccreases
(C) Pressure increases.

(D) Plfessure décr_eaées_.

94 Refractivé index of water with respecf to air is
W h |
C® Yy

™ Y%
” (_‘Spaée For Rough Work')_
- (30) B | S (C'o.ntinued)
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| 98. The ratio of displacement to the dlstance 18
| (A) Always <l

~ (B)- Always > 1..
.. (C) Maybe <1

| (D) Always=1 :
99, Whena body moves along a stralght 11ne the motion of the body is said to be

R

(A) One dimensional
(B) Two dirnensioﬁal '
(C) Threc dimensional
(D) Maybe any of these three.

-100.What is the position of the boat when a person sitting in 1t and push one of the wall
of the boat ? '

B (A) Boatmoves forward w1th a umform velocity
o (B) Boatmoves forwa:d witha non-umform Velomty
- (C) Boat Iﬁoves backward -

- (D) Boatremains at rest.

( Spdce' For Rough Work )

(32) o




* NE/MATH (3)
 BASICMATHEMATICS
- { Use of Calculator and Logarithm table no‘t 'allowed )

1 If & and Bare two roots of the equatlon x2 +x—-2=0 then the value of a’" + ﬁ“ is
@A) 2 | |

. "(B) 2
©
© -

2 The value of o for whlch the system of equations ax.+ 3y=a-3
- 12x +ay=aq

has no s‘olli'tion is:

(&) =6
_.',(B) -5
(© s
D) 6

3. The length of a minute hand on the wall clock is 7 cm. The area swept by the mlnute
“hand in 30 minutes is : : o

(A) 147 cm?
(B) 210 cm? -
(C) 154 cm?
D) 77 em*

( Space For Rough Work )

(1) _ (Turn Over)



6. The médian of the foilbwing_ distljibution"is' .

- NE/MATH (2)

Weights -

Gnkg) | 4| 0| s

60

65

70

| persons

Numberof | 5 y 8 | 15

(@A) 55

- (®). 50
© 45
@) 60

7. Forthefollowingdata . == = .
U 1,1,0,2,3,5,56,810,11".
(A) Mean=Modé=Mcdlan
(B) _‘Mean=Mode ' -
(C) Mode=Median
(D) Mean=5

B (Space For ‘Rou‘gk Work) T

(3)

T

(Turn Overy -



NE/MATH (2)

10, If the side of an equilatéral triangle is-4./3 cm, its area is :
| -(A)‘-—\Ecm2 : | o

B e
C© 12fFem?
D) 24y3cm?

11 The sides of a rectangular park are m the ratio 4 : 3. If 1t's areg is 1728 m?then the
" cost of. fencmg it at Rs, 2 50 per metre 1s i Y R

(A) Rs. 320.00 T
© (B) Rs.420.00

'(C)- Rs. 840.00

(D) Rs: 680.00

12 The helght ofa parallelogram is one-thu'd the base If the areais 108§m2, thcn 1ts _‘ |
 heighti is: ' '
. (A) 6cm

(B 7em -

© 8 cm-"
T O 9em

.(5)-. ' _ . : - .'(TumOver). .



NE/MATH (2)

15. A cylinder and a cone have the same héi-gh_t and the same radius of the bas_e'.‘The,rétio .

between the volumes of the-cylinder and the cone is :

w2
(0 3:1 |
©) 2:1

_ 16.The mean of the 1 scores x, x, %, ...,x, is M. If 0. (% ~12) =10 and 3 (% -3)
; : : - Lo = - _ i=1 _

=62, then the vilie of ' is’

@10
(B) 8
© 12

D) 9

- e il

' (SpaceForROugthk) —

(1) o - _(Turmv;er)



- NE/MATH (2)

- 20. The area ofa trapezxum is 1080 cm?, If the lengths of its parallel SldeS are 55.6 cm
and 34.4 cm, then the dlstance betweenthemis: :
(A) 48cm
- (B) 36cm
(©) 24cm -
(D) 12cem

21.The area ofa rhornbus is119 crn2 and its perlmeter is 56 cm. Then its altltude 1§
- (A) 8.1 cm
(B) 8.3 cm
(C) 85cm
(D) 8.7cm

22, The curved surface area of a sphere is 1386 cm’. Its volume is -

[Taken' = 32—) ,
7

(A) 2772 cm®
(B) 4851 cm®
(C) 5544 cm?®
(D) 4158 cm’

 (Space For Rough Work)

(% . | - (Twrm Qver)



 NEGK. ()
'GENERALKNOWLEDGE
26. The Rajyarani Expressin Odisharuns from:

(A) Bhubaneswarto Jharsuguda
(B) Bh_libaneswarto Koraput. -
(C) Bhubaneswar to Rourkela

| X)) ,B_hubanc,'sw_ar'to Berhanipur.

. 27.Bill Gates; the famo_lié Computer Sqﬂware maker of USA?_ is aﬁsdé_iatcd )}vith o ‘

(A) Infosys
 (B) WIPRO
- (C) Microsoft
- (D) Satyam

28. Delhi is situated on the bank of the river :

" (A) TheGanga
 (B) TheYamma

(C) The Bmml-_laﬁuua
_'A:'_(-D) -’;IhéTapﬁ_' ) . Sl el T
e ~CSpace For Rovgh iork) ‘

( 11) | o o : (Turn Over)
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32,“ What is the number of Squares on a chess board 2.

A 712
(B) 64
. (C) 48
- (D) 54

33, The Latest Census in India was heldin

(Ay 2000
(B) 2010
C(© 2011
- (D) 2012
) _34; The Davis Cup is a%;s«;biai:é_d with' .
(A) Football -
(B) Lawn Tennis
(C) Hockey
(D). Bascball
- 35Who is the maﬁufacnmer of the Car ‘Nano' ?'_ .
CA) Mamti
. (B) Hyundai IR
(C) TataMotors
- (D) Honda . . ° = o S o
e e (SpaceForRoughWork 3 e

(13 ) . . . (Tuin Over)
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39. Who ié the Finance Minister of Odishé ?

(A) Prafulia Ghadei -

(B) Maheswar Mohanty
(C) PrasannaAcharya
(D) Raghunath Mohanty

40.Malala Yousafzai, who Wa‘s shot by the Taliban, belongs to ;" -

(A) Afganistan -
(B) India
- (C) Bangladesh
. (D) Pakistan

41. Who was the first women President of India?: e

' (A) Sarojini Naidu -
(B) IndiraGandhi
(8] Prativa Patil . .
- (D) 7 Jayalalitha

" (Space For Rough Work)

l' (15) . _ | A{Turn Over)



NE/GK. (2) -

45. What s the approximate playing time of the ‘National Anthem' of Ind1a'7 -

'(A) 42 seconds
-~ (B) 52 seconds

(C) 62seconds =
(D) 32seconds

46. Dhanraj Pillay is associated with: .

(A) Cricket

(B) Fooball -
- (C) Hockey
. (D) LawnTennis

47.Who is the only batsman:in Indian cricket to score :Tripl_'c century ?

(A) SachinTendulkar = -
(B) SunilGavaskar .

: (C) Virendra S'ehWag.l'
"(D)' V.V, §. Laxman

('17',).‘- o , © (Twrn Over) -



ENGLISH

Each question carries ONE mark.. -

' NE/ENG (2)

Choose the right. alternatlve for each blank space in the followmg sentences .

51 We often send money——-— post
(A) in
(B) on
(€) to
(D) by

52, Do you mmd—— a frlend in need 7
(A) helping - :
~(B) help
(C) tohelp .
(D) being helped

53. We should have sympathy
(A) to
(B) of
- (C) towards
(D) off '

- 54. The full form of can’t 1s
'(A) can not

(B) cannot

(C) canot
(D) none of the above.

- the poor.

" (Space For Rough Work)

L(19)

- {Turn Over)



NE/ENG (2)

: 60. A number of people  have come to buy 'thg‘ tickets. .. .

61. There is no cure of cancer
A B _C - D

62. Any school is always praised. ifitis producing good students,
A B —: studont.

‘63‘., The injured is taken to the hospital for freatment. - " -‘g‘
A B. .. C D . LY
-. 64. Whe.nfhe tc?’-cl_lreff:‘?‘f?',shéﬁfe@g the cl'aSs...all the students stood up, - | e

65.Are three-fourths of the field empty ?
A B C D

- Read the followmg passage mmdfully and choose the correct statement m the hght '
o of the passage that follow : . S

It was stlll a busy hour in the city when i entered the Market Road People ran for their lives
at the s:ght of me. As I ‘passed through, shutters were pulled down, and peopIe hid
~ themselves under culverts, on trees, and behind pﬂlars The population was melting out of |
sight. At the circus I had had no chance to study human beings. They sat in thelr seats
‘ .peacefully wh11e I cowered before the captain's whip. I got a totally wrong idea’ of human
bemgs at that angle I'had thought that they were strong and fearless But now I found them

( Space For Rough Work)

‘.-(,21:)_ : B o (Twrn Over)



'NE/ENG (2)

‘ 69 Seemg the tlger in the Market Road people -

A gathered inone place '
SR (B) threw stones at the tiger
AR "~ - (C) disappeared

< (D) werestill busyin their work.
70. The tiger wanted to —

(A) klll the tailor L
(B) frightern the hum.'m bemgs
(C) kil the deer

(D) none of the above

_Choose the rlght wordlexpressmn whlch is very close in meamng to the word
in relation to the passage -

71. Cowered

ﬂ _ . (A) shouted in 30y

.. (B) crouchedinfear

.- (O) caughtthe whipinfear

Lo (D) cameforward |

72, Culvert means underground passage for

. (A) People

(B) Birds

(C) Water

(D) Wind .

(Space For Rough Work)

(By T (Turm Over)



 GENERALSCIENCE -
BIOLOGY

76, Anaerobic resi;ira;ion aftér glycosis is also called ; -
(A') Mﬁ_ltip.licatibn = | J.
(B)  Fragmentation . - |
< 'Fermentation
(D.)‘ Restoration.
- 71. Blo-dcgradable matenals are:
(A Those Whlch sp01l the b1010g1cal environment
'(B) Toxic mnature o
-(C) Canbe broken downbybactena _
(D) Usedto convertmg ‘waste into greenery
78. Frog resplres through .
- (A). Gills -
(B) Lﬁngs
C(© Skin
" (D) Gill clefts.-

. NE/GENSC (2) -

"(Space For Rough Work)

(25)

- (Tilm bl_z'er)
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CHENHSTRY
83. The total number of fundamgnml particles in o.ne‘atom of CMis : o
we - |
 ®) 8
© 3
. (D) 4
* 84:Mass of electron is
(A). 9.1x10% gm
| (B’) 9‘.1x10"2f gm
- © 9.1x1071 gm 3
(D) _9.1>‘<10-18 gm.
85 H‘ardngSs of .watér is due to |
N 4(A) Dissc;lved-org'anib rna_tfer .
(B) Dissolved Naand K salt
(©) Dissolved Ca and Mg salt
(D) Suspeﬂded matter. L

(Space ForRough Work)

(27) '  (Turn. Over)
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89 Itis thé one in which the atoms .o‘f each element are equal in both sides
(A) Skeleton equation ‘ |
- (B)- Molecular equétﬁon
(C) Atomic e'quationr' : )
(D) Balanced equation |
| _9"(},.'1']16. chemical formula for Aluminium Nitride is
(A AN,
@) AN
(©). AN
(D) Alst
91. Co-valéncy is faﬁu_red by |
(A) Small cation and large anion
(B) Largé éatfon and s-lﬁail anion -
| (C) Large cation and large z_tpiipn |

- (D) Small cation and small anion.

~ (Space For Rough Work )

() - - (Turn Over)
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95.'T1_ie_va1ue of _Absblute Zero on the Fahren]_iei_t scaleis:
(A) 273°F |
(B) —459.4°F

(C): O°F
(D) —182.7°F

_96; Thera;io between poténtiél difference and current isknownas:: - -
(A) Conductance o |

| (B)- R_es'ist;ance-
(Cj Heat capgcity

- (D). Specific tesistance

9.7,"'I‘ he velocity of sdfmd is maximum in which of the f:'oI,IoWii-i‘g 7
(A) Tron | | | ’
(B) Water

| (C) Merqﬁry
(D) Air

| ( Spa'ce_ F o}‘.r-Ro-u:gh Work)

31y (T Over)



